

SCHOOLS CRICKET IN 1978

By REX ALSTON

The Representative games at Eastbourne and Lord's unearthed some promising cricketers, and the all-round standard was higher than in 1977. At Lord's the two-day game between teams selected from those who had played at Eastbourne, entitled MCC Schools v National Association of Young Cricketers, was drawn. Impressive batting by R. J. Boyd-Moss (Bedford) and N. A. Felton (Millfield) enabled the Schools to declare at 171 for two, to which NAYC replied with 132 for seven declared, opening bowlers J. P. Agnew (Uppingham) and R. Ellison (Tonbridge) sharing five wickets. The Schools' second innings was a laborious plod, only 120 coming in 57 overs, and a failure to declare left NAYC, manifestly the weaker side, an impossible task. They made 119 for four.

A team selected from the above played a 55-over match versus a Combined Services team, and after a good day won by 33 runs. 471 runs were scored and eighteen wickets fell. Felton (82) again excelled himself, showing maturity and skill, and he was supported by R. I. H. B. Dyer (Wellington) (49), last year's captain and an experienced batsman, C. Cook (34), an exciting stroke-maker, H. G. Ellison, the captain (Bristol GS) (34) and Boyd-Moss (29). The Services accepted the challenge to make 253, and at one stage looked like winning, making short shrift of the faster bowlers Agnew, R. Ellison and S. J. Dennis (Scarborough), but the

fifth bowler tried, slow left-arm I. Maciver (Mill Hill), quickly ran through the dangerous hitters, finishing with seven for 48, and at the end the Services were 219 for nine.

ESCA Report

The all-round level of technique and performance of the English Schools in the 1978 season was much more encouraging than that of 1977. The senior members of the Schools Indian Tour, V. P. Terry, R. H. I. B. Dyer, D. Pringle, and N. Taylor joined Hampshire, Warwickshire, Essex and Kent respectively for the summer. M. Brearley (Yorkshire) and G. Parsons (Berkshire) played for the England Young Cricketers in the three Tests against the visiting West Indies Young Cricketers. It is becoming increasingly difficult for the strongest English Schools XI to take the field together, as demands from Second XI, Minor County, Representative and even First-Class cricket are considerable.

The ESCA v HMC Schools drawn game at Eastbourne was notable for good swing bowling by R. Ellison (Kent), and good batting by N. Felton (Kent), C. Worlidge (Marlborough) and

R. Boyd-Moss (Bedford).

English Schools cricket was tested against the West Indies tourists at Charterhouse. After dismissing the visitors for 186 on a good wicket, (G. Parsons five for 35), the Schools were in trouble at 130 for six, (R. Boyd-Moss 55), but a fine partnership of 120 by K. Barnett (Staffordshire) (75) and A. Arundell (Yorkshire) (72) enabled the English Schools to reach 284. In their second innings the West Indies made 326, and an honourable draw was the result. The opening partnership of Boyd-Moss and Felton was a feature of the batting, as was the all-round ability of Ellison and Arundell with swing and seam, and Barnett with leg-spin; though the main strength of the bowling lay with the quicker bowlers, Parsons, Dennis, Ellison and Agnew. Parsons and Agnew both later played for Leicestershire. The promise of slow left-arm I. Maciver was also noted, though there was a dearth of spin bowlers of real potential.

* * * *

In a season of cool, sunless and wet weather, the Schools made light of the conditions, and there were few complaints, though naturally slow pitches hindered high scoring, some games were ruined or abandoned, and spinners enjoyed themselves more than their faster brethren.

The following were unbeaten in all matches, though there were in most cases several draws, due often to the weather: Radley had a unique season, undefeated in twenty games, though they only won six. They had possibly the best eleven for twenty-five years. Eight batsmen each made 50 in a good team effort. Spinners T. P. Wise (off-spin) and C. J. Sutton (slow left-arm) were the leading bowlers and they were well supported in the field. Repton similarly had only five wins. J. M. G. Richardson was the leading batsman, supported by the captain, W. J. Wesson, and D. G. Winfield. The first seven batsmen made at least one 50. The

bowling was no more than steady, with Richardson taking the most wickets. Bancrofts were never bowled out. M. S. Webber set a School record of 557 runs and 30 wickets with leg-spin. N. F. Wilkinson (slow left-arm) took five wickets four times and the opening batsmen, S. B. Ince and C. R. Thomas, put on 120 against the Incogs.

City of London had their best eleven for many years. They too were never bowled out S. N. Siddiqui batted well and the best bowlers were the captain, N. D. Towson (fast-medium), and G. P. Arnett (off-spin). Downside were unbeaten for the second time in three years, but they had twelve draws out of fourteen matches, including all nine against Schools, though eight of these went to the last over. They were a very young side who fielded well. The leading players were the captain, N. J. McKibbin, T. A. Cotterell (slow left-arm), M. J. Greaves (offspin), and R. T. Vyvyan was the leading batsman. St Edmund's, Canterbury had an exciting time, playing two draws with the scores level and one tie. Fifteen-year-old S. A. Sloan was the most consistent batsman and I. C. Hooper (slow left-arm) was the most effective bowler.

Tonbridge comment that poor catching as well as slow pitches produced eleven draws. The batting was particularly strong, headed by J. C. Spurling and R. M. Ellison who scored 1,500 runs between them, including partnerships of 213 against Dulwich and 167 against Winchester. Ellison (fast-medium) and S. C. Miller (slow left-arm) were the leading bowlers and Ellison and Spurling both won representative honours at Eastbourne and Lord's. Forest played eight draws which argued strong batting and moderate bowling. The best wins were against Bishop's Stortford and the Forty Club, when they were chasing totals of over 200. The leading batsmen were captain R. Andrews, C. Shokaya, and N. Bruce.

The following were unbeaten by Schools: Merchant Taylors', Northwood had their second successful year, despite deplorable weather causing many draws. N. G. Smith and G. B. Leno made hard-hitting centuries and topped both averages. They and T. O. R. Rimmington, all medium-quick bowlers, were very accurate. The captain, N. J. C. Pollock, set a high fielding standard, and B. P. Ladd kept wicket well. At St Albans the captain, D. W. Rodgers, reached an aggregate of 1,000 runs for the school, and S. P. J. Dymoke set a post-war record aggregate. They were formidable openers. The chief bowlers were M. J. H. Beardow and C. A. Blythe. St Peter's, York had bowling depth, brilliant fielding, adequate batting and all-round team ability. J. H. Baggs with the new ball and M. W. Johnston (slow left-arm) were promising bowlers. The captain, R. Collingwood-Gittings, led the side well and played some fine innings, and his opening partner, J. P. Ross, was remarkably consistent, only failing to reach double figures once in twenty innings.

Felsted: this was the fourth year in succession that they were unbeaten by any School, but their six wins were achieved with less authority. They won against Aldenham, The Leys, Highgate, Winchester, St Peter's and Haileybury. N. T. Gadsby (three centuries) and M. A. Rigby (one century) had their second season together as openers. M. J. R. French, a talented all-rounder, bowled fast-medium, and all six bowlers contributed, but with less penetration than in previous years. Haberdashers' Aske's, Elstree were unbeaten for the second successive year. Solid batting was led by the left-handed M. J. Bailey, T. H. Parker and R. Price. The bowling was not strong, relying mostly on the pace of the Weston twins, M. S. and S. Trimly had nine wins and five draws and a tie against Whitgift. Opening batsmen R. K. Steadmand J. T. Woodman made 1,200 runs between them. Leading bowler P. E. Smith (fast) twictook seven wickets in an innings, and he was supported by J. C. T. Martin (off-spin) and L. Roberts, all-rounder and knowledgeable captain. Schools beaten were Ipswich, Emanuel Reeds, Caterham, St Benedict's Ealing, and Tiffin.

The following Schools, though beaten, enjoyed a successful and in many cases happy season: Charterhouse report an exciting season in which M. C. Frankland was the batting mainstay. They had three accurate seam bowlers, G. D. T. Pride, M. N. Lovell and R. C. Doggart, supported by slow left-arm P. D. Griffiths. They were an outstanding fielding side. Mill Hill's success revolved around the slow left-arm of their captain, I. Maciver, who took 58 wickets and bowled well in the Representative matches. The batting improved steadily and eighty-one catches were held, fifteen more than the School record. Dover had their best side for some years. It had batting depth, led by P. Veivers, an Australian on an exchange visit. The best bowler was E. Le Blanc, who bowled fast, accurately and to a good length. W. J. Medliout was an able captain and the fielding reached a high standard. Bablake, Coventry were observed out once — by King's, Worcester. The fielding and catching were good and the leading batsmen were M. I. M. Eames, a left-hander, and the captain, K. A. R. Appleton.

Halleybury reckon their team was the most successful for years, winning nine and losing only two. R. G. P. Ellis was an outstanding all-rounder and captain who excelled in making 108 against Harrow, who were defeated for the first time in eighteen years. St Dunstan's were bowled out only once thanks to strong batting led by C. T. Carpenter, opening batsman, who made two centuries, and the captain, R. P. Browne, who also bowled his leg-spin tidily. Four Schools were beaten. Pocklington enjoyed their best season ever in results — twelve wins against Schools due largely to aggressive batting by J. D. Guillen (967 runs) and A. G. Brumfield (719 runs), an exceptional captain who inspired excellent fielding. Ashville, Harrogate lost only to Pocklington in a tight finish by two wickets. Six centuries were made, three each to the left-handed captain, K. M. Walsh, and S. J. Simpson, the wicket-keeper, who had a Trial at Eastbourne. S. J. Hobson was the best bowler and the team had three good wins on a Midland tour against Trent, Kimbolton and Wellingborough.

Bedford had a fine season. They possessed a well-balanced side who played positive cricket and the fielding and catching were first-class. The only Schools losses were against Oundle and Uppingham. R. J. Boyd-Moss was a class batsman and a shrewd captain who did well in Representative matches. R. W. M. Palmer (fast left-arm) took a record number of wickets and he was supported by R. J. Wildish (fast) and J. V. S. Sahai (off-spin). Cheltenham Grammar School were never bowled out and had a nine wicket win over Cheltenham Town. C. Minett, the captain, topped both averages, took most catches and captained Gloucestershire Schools. Christ, Brecon had the best side for years. Good batting by the captain, P. L. Thomas, and by A. L. G. Jones, was complemented by the opening bowlers, J. Scurlock-Davies, and S. A. Spencer, and P. G. Chambers (slow left-arm). The record was as a result of a good team effort, especially in the field, where H. R. Thomas kept wicket well. Cricket is in a healthy state in the school. Christ's Hospital played exciting, positive cricket, beating Ardingly, St John's Leatherhead and Epsom; losing to Cranleigh and tying with King's Taunton.

Doual enjoyed their most successful season since 1971, losing only to MCC. The captain, J. Forsyth (fast) took over 50 wickets for the second season running, and was the first Douai boy to represent the Southern Schools against The Rest. King Henry VIII, Coventry performed well in all departments. They were well led by batsman D. J. Freeman and the leading bowlers were T. J. Buttimore (fast), an all-rounder, and P. A. Sewards. King's, Macclesfield had their best season for many years, beating five Schools and losing only to Stockport Grammar School. No-one was outstanding, but five of the team scored 300 runs and over, and three bowlers took over 25 wickets. J. J. Cope (leg-spin) has taken 104 wickets in the last three years. Lancing had almost their best ever team, full of attractive batsmen and talented bowlers, the only weakness being in the close catching. They learned how to chase runs, led by the captain, W. E. J. Barrington, and S. J. P. Johnston, who were their best opening pair for years. Johnston also took 27 wickets. E. R. G. Heaslip took twenty-one catches and made eight stumpings as well as being a useful batsman. R. B. Fawssett (slow left-arm) took the most wickets, and K. P. Q. Rhodes (fast-medium left-arm) was an effective opening bowler. Westminster, Epsom, Hurstpierpoint and Brighton were all beaten, only Charterhouse defeating them.

Allhallows won against Kelly College, Wellington (Somerset) and Hardye's, and lost only to Queens's Taunton. They had a strong seam attack and fielded keenly. The captain, R. D. Higgs, set a fine example and S. C. Ellyatt made a remarkable début as an opening bowler, taking 46 wickets. Monmouth had an enjoyable season of good cricket. After an early defeat by Millfield they did not lose again. There was batting depth, with a good opening pair in M. G. Davies and L. Benson who made century stands against Dean Close and Gloucestershire Etceteras, and they were supported by the captain, R. T. McCrone. Nottingham High School beat Stamford, Leeds, Cranbrook, Ratcliffe, Mill Hill and Denstone, though they lost to Queen Elizabeth's Wakefield. The batsmen did not score quickly, so half their twenty-four matches were drawn. The outstanding cricketer was slow right-arm bowler S. J. Turrill. Trent had six good wins and only one loss. C. H. Wiltshire, a left-hander, batted well and the leading bowlers were G. W. Rees (fast), R. A. Cobb (slow left-arm) and the captain, C. S. H. Smith (medium). They won two and drew three in a tour of Yorkshire. Uppingham possessed their best side since pre-war. Schools beaten were Oakham, Rugby, Oundle, and Shrewsbury. Halleybury just avoided defeat and Repton were led on the first innings but the second day was washed out. The outstanding performance was by J. P. Agnew, who took eight for 16 runs in the ten-wicket defeat of Oundle. Whilst everyone made valuable contributions, Agnew and C. J. Riley, a reliable opening bat, were the stars. Agnew won Representative honours and later played for Leicestershire. Wrekin had their most successful side ever against Schools,

836

losing only to Denstone. They won ten, drew two in their favour and won all five on an East Anglian tour. They had a strong opening attack in R. S. Dutton and J. B. R. Jones, supported by the slow left-arm of C. P. Ross. Jones was a talented all-rounder (562 runs and 48 wickets), M. K. Perry took his aggregate total of runs to 1,800, and Dutton to 153 wickets. A. C. W. Douglas was an able wicket-keeper whose 30 wickets constituted a School record.

Bishop's Stortford scored a record number of runs. A. Bentall's aggregate reached 1,418 runs. They were bowled out only three times in eighteen matches, by Felsted, Sherborne and MCC. J. P. Ireland (medium) took 50 wickets. Framlingham, Aldenham, Chigwell and Monkton Combe were beaten. Queen's, Taunton had their finest season for many years, with six wins over Schools: Kingswood, Hardye's, Allhallows, Bristol Grammar School, Exeter, and Victoria Jersey. J. R. Greenhow (aged 16) scored 526 runs, and S. N. Patel and M. S. Riddle shared 81 wickets. Abingdon's captain, J. W. Slingsby, dominated the cricket with 1,003 runs, including four centuries. G. R. Halsey was a competent all-rounder and wins were achieved over Oratory, Berkhamsted, Reading, St Edward's Oxford, and University College School. Cranleigh had a good captain and successful batsman in I. R. Wilkie, and varied and accurate bowling. No School mastered slow left-arm M. P. Chase and G. C. W. Webb, backed up by the pacey F. R. Dethridge, who did the hat-trick against Eastbourne.

Marlborough had a happy season with four wins and three draws which were nearly wins. C. F. Worlidge, the captain, was an authoritative opener who captained the Southern Schools. There was a good all-round performance by S. J. Lillyman (647 runs and 33 wickets (off-spin)). R. M. A. Vyvyan was a successful inswinger and M. Stewart an efficient keeper. King's, Gloucester lost only one School match, against Bloxham, and had an excellent record against the strongest sides in the South West.

The following do not fall into any of the previous categories, and their season can be summed up as satisfactory or average: **Westminster** had high potential which batsmen like T. W. J. Bailey and S. J. B. Hamilton failed to fulfil. Bailey and R. Platt bowled usefully though there was little spin to support them. Bailey, the captain, made 101 not out against U.C.S. **Shrewsbury**: Rossall were the first School to beat them since 1974. Uppingham also beat them, but they won against Malvern and Rugby, and Charterhouse hung on for a draw. P. M. Fitzsimmons and G. F. Boys-Stones made centuries and the leg-spin of R. G. W. Marsh (seven for 36) beat Rugby. In fact, Shrewsbury had two leg-spinners, Boys-Stones and Marsh, who curiously finished with identical figures. **Bradford Grammar School** gave mixed performances. The captain P. A. Kellett, fast right-arm, took 51 wickets and batsman S. M. Hewit averaged 40. There were two useful spinners, J. A. Wooller (slow left-arm) and S. R. Harley (off-spin). The fielding was good, especially by Hewitt in the slips. **Perse**: most of their eight draws were in their favour. They were only once bowled out for under 100 – by Leys. Some of the best cricketers failed by 1977 standards, but the captain, A. F. Haydon, made over 50 five times.

Winchester were not a strong side, but of the four games lost against Schools, three went as far as the final over after a declaration. M. J. A. MacDonell topped both averages, making 100 not out against Clifton and bowling leg-spin. S. J. G. Doggart was a good captain. At Brentwood powerful batting was a feature, but they had only one penetrative bowler, fast medium I. L. Pont, who took fifty wickets and also topped the batting.

Eton played keen and attractive cricket, but results were disappointing against the Schools as they just failed to win against Charterhouse, Marlborough and Winchester. Opening batsman P. W. Morris (728 runs) developed well, and C. G. Crace (medium swing) was the best bowler. P. J. R. Goulber was an outstanding fieldsman. Millfield: in seven matches the result was in doubt until the last few overs. N. A. Felton (897 runs) was the outstanding batsman, scoring two consecutive centuries and excelling later in Representative cricket. R. P. H. Barker and M. J. Bamber batted well and J. Arnold was a good keeper. P. M. Freth was a consistent bowler, but the side lacked both speed and spin. The younger element at St. Lawrence, Ramsgate – I. R. Bond, S. J. Billings, P. E. Price and A. P. Barker – all did well. The captain, M. G. Marchant (fast) hit the stumps 26 times in taking 46 wickets. Merchiston's strong batting but weak bowling resulted in no wins against Schools. P. D. Barbour and the captain, J. A. Turnbull, were the leading batsmen, and Barbour was also a useful slow left-arm bowler. Opening bowlers N. H. Cairns and G. S. Simpson improved during the season, and R. A. Young was a fine wicket-keeper who later captained the Scottish Junior Colls. Hurstpierpoint: defeats by Eastbourne and Lancing marred an otherwise fair season.

C. Parmar was an outstanding all-rounder, twice taking seven wickets in an innings and making three not out 50s. The captain, N. R. J. Green, made 94 before lunch against MCC who were beaten. Denstone: five out of seven defeats in nine successive days reflected tired bowling and perhaps too much fielding. Earlier draws against Worksop, King Edward's Birmingham, and Shrewsbury were close and exciting. G. Morgan was the best of a strong batting side, and N. J. B. Illingworth a useful all-rounder.

Clifton improved during the season and their only School loss was against Cheltenham. They beat Marlborough, Colston's and Winchester, and played five close draws. C. R. Trembath was an outstanding all-rounder, batting No. 3 and bowling medium-pace, supported by the captain, another all-rounder, M. C. Arrindell (fast). Framlingham had a successful time until they lost three out of their last four games. Strong batting was led by N. J. Hindley, who made two centuries, and the side fielded keenly. King's, Canterbury were bowled out only once, but the batting lacked confidence. The captain, A. M. N. Rahman, was a powerful hitter and fast opening bowler, and his chief supporter was G. B. P. Breeze (medium swing). Three School games were rained off, and the only win was against K.C.S. Wimbledon. Malvern could not often rise to the occasion. They lost to Repton and Shrewsbury, and drew with Cheltenham, Clifton, Charterhouse, Radley and Rugby, though in these games they were often favourably placed. Monkton Combe were a young side who won seven matches against Schools, doing particularly well against Wycliffe and Dauntseys. M. J. C. Edwards was a good batsman/wicket-keeper and captain. A. J. M. Spear was the backbone of the batting, and the left-handed opener, I. C. Prest, usually gave the innings a good start. The leading bowler was off-spinner R. A. Leakey. Strathalan were a moderate side with an outstanding batsman/ captain in M. J. Yellowlees, who made 138 not out against Fettes. The side had a good win against Glenalmond, C. A. MacLeod and G. M. Stremmen bowled contrasting slow left-arm spin.

Eastbourne were a talented side who failed to realise full potential. P. R. Mansell (fast) and V. Patel (all-rounder) had moments of brilliance. The leading bowler was the captain, C. J. Lush (slow left-arm), who was also top batsman, and he earned Representative honours, taking nine for 70 for the Southern Schools v The Rest. Edinburgh Academy: brittle batting and lack of close catchers were serious weaknesses. J. D. Sutton made a maiden century against Denstone, and the captain, D. C. Hill, enjoyed the firmer pitches on a southern tour when he made 289 in five innings. Worksop drew five School games and suffered narrow losses against Repton and Wrekin. P. A. Shuttleworth and C. L. M. Best were the leading runmakers, each scoring a century; Best (left-arm fast-medium) was also the leading bowler. Sedbergh lost only to Pocklington, but won only against Barnard Castle and Lancaster R.G.S. Lack of penetrative bowling caused many draws. The captain, H. M. Allinson was an exciting bat, and A. M. Wright and W. R. Holdsworth were a sound opening pair.

King Edward VI, Southampton had a satisfactory season under J. C. Wright. R. R. Savage dominated the batting, and fast bowler G. P. J. Staples took 51 wickets, 32 of them bowled. Cheltenham were moderately successful, being unbeaten by Schools until the end-of-term festival. They batted second in all but two matches. The bowling contained the opposition, but the batting was not sufficiently positive. J. R. Lawton was an outstanding batsman, and A. D. Marsh (off-spin) and I. E. W. Sanders (medium pace) bowled well. KCS Wimbledon had a good season spoilt by too many draws. Strong batting was headed by a formidable opening pair, M. L. Allcock and J. Ashcroft who made nearly 1,200 runs between them. The side was happy under off-spinner S. P. L. Collyns. St George's, Weybridge had a good season with four wins against Schools, N. Franklin was an inspired wicket-keeper and the medium-paced S. M. Neary has taken 112 wickets in the last three seasons. Durham had a better side than in 1977, with more wins than losses. C. J. Kingston and J. P. Bland carried the batting, and the bowling was steady, led by M. P. Manners and A. M. Bennett, both medium. The wins were against Fettes, Newcastle RGS and Whitehaven, and losses against St Peter's York, St Bede's and Pocklington. King's, Taunton: the highlight of the season was the defeat of Millfield, the first by any School for thirteen years. They lost only to King's Bruton - by four wickets - and they tied with Christ's Hospital off the last ball.

Dauntseys were fairly successful. G. N. H. Lower was a shrewd wicket-keeper/captain. The chief batsmen were D. A. Scott and M. O. Parish, and the most effective bowlers were A. D. Leng (medium) and T. L. Hardingham (fast-medium). Birkenhead were disappointed to lose their last two games after handsome wins. They were badly hit by the weather. They had promising cricketers in the Varey twins, D. W. an opening bat, and J. G. an all-rounder.

M. Hennock (slow left-arm) and S. M. Winter (fast) both had good seasons. Canford were a good young side. R. P. Garnett (slow left-arm) has taken 105 wickets in the last three years. They lost to Sherborne and Taunton, the latter by only three runs, and they beat Blundells, Bryanston and King's Bruton. Cranbrook lost only once to a School. The batting was strong, with centuries from A. J. Fraser and S. D. Pugh. C. P. Wynter was a good wicket-keeper/captain. Dean Close won four matches and had the better of several draws. They owed most to successful all-rounders, the captain, T. G. Graveney (son of Tom), who took 38 wickets (off-spin) and made 476 runs, and W. R. K. Thomas – 678 runs and 32 wickets.

Hardye's improved after four early losses. They won three against Schools and were on ton in five draws. Their strength was in seam attack - the captain, P. S. Beer (fast left-arm) P. S. Frost (medium pace) and J. C. Dixon (left-arm medium). Dixon was also a good allrounder, and the side maintained an over rate of over 20. Ellesmere, though beaten by strong club sides lost to only one School - Denstone - and several draws were in their favour. They had batting weaknesses, but the captain, R. F. Smail batted well and in three seasons has taken 95 wickets, at fast-medium. King's, Bruton lost their first two games and were then unbeaten. They had batting depth and a strong seam attack, led by A. D. Jenkins and M. R. Doggrell (fast-medium). The highlights of the season were a not-out century by R. W. A. Yateman against Sevey's Grammar School, a fine innings of 86 by G. M. C. Cordner against Clavesmore, and eight for 27 by Jenkins against Milton Abbey. Magdalen College School, Oxford played attacking cricket, relying largely on the captain, C. W. B. Anstey, but the bowling often lacked penetration. There were easy wins over Bloxham, Reading and St Edmund's Ware. The feature of a nine wicket win over King Edward's, King's Lynn was an opening stand of 175. Rateliffe's young side had an enjoyable season in which they were well led by M. Thistlethwaite. Good cricket was played, but there were many draws. Warwick lost only twice against Schools - Rugby and Solihull. There were victories over Denstone, King Edward's Birmingham, Bloxham, Dean Close and Handsworth. The side was based on five good cricketers, the captain, P. M. Ryan, G. A. Lammie, wicket-keeper/batsman G. A. Tedstone, G. J. Lord (all-rounder and slow left-arm), and S. C. Davis (in-swing).

William Hulme, after a pre-season Caribbean tour when they won three, lost three and drew three, lost to only one School, King's Macclesfield, and beat Rydal, Queen Elizabeth's Wakefield and Birkenhead, due to fine bowling by P. A. Rainford (fast) and N. J. Lord (leftarm seam). S. P. Dickinson was a promising opening bat and at short leg H. S. Davies took some excellent catches. Blundells had an entertaining side of hard-hitters, athletic fielders, but weak bowlers. Leading all-rounders were N. S. Brown and G. P. Randall-Johnson. Five Schools put them in and played for a draw, an unpopular tactic and bad for cricket, but of these five Blundells won two and drew two. Oundle were rebuilding, but they won four and lost only two to Schools. K. I. Hodgson, the captain, was unfit until half-term, after which he made four centuries. Losses against Schools were the first since 1974. They were bowled out for 29 by Uppingham's J. P. Agnew (eight for 16) but in revenge they beat them in their end-of-term festival. Oundle were the only school to beat Bedford. Alleyns - the captain, R. Maharasingam, was a fine all-rounder, left-hand bat and left-arm slow bowler, who has made 1,196 runs and taken 82 wickets in four seasons. He instilled good team spirit. Wins were recorded over Westminster, Emanuel, and Reigate, against whom M. Banfield (fastmedium) took eight for 15.

St Edward's, Oxford: the bowling was unable to back up good batting. There was lack of pace and no off-spin, with the result that only one side was bowled out. N. R. Chaumeton showed all-round ability in making not-out centuries against Stowe and Oundle, and he took seven for 77 against Abingdon, bowling fast-medium. Bradfield lost heavily to Charterhouse, Winchester and Eton, and the only School beaten was Westminster. The leading cricketers were S. N. Lee, whose aggregate of 577 was the highest for five years, and R. T. Helm, whose off-spin suffered from captaincy cares. King Edward's, Birmingham did not bat with conviction, nor bowl with penetration nor field too well. C. John captained well but batted inconsistently. S. E. Fletcher was an effective leg-spinner, but both he and John suffered from injuries. At Fettes wins against Glenalmond, George Watson's and Loretto compensated for losses against Durham and Edinburgh Academy. The leading cricketers were B. B. White (off-spin), M. D. Stephen (medium) and P. J. Orr (all-rounder). Highgate had a poor season, but there were good performances by C. R. B. Nichol (off-spin), six for 46 against Haileybury, the captain, J. R. Green, three 50s, and N. R. Jacobs, 85 against Dulwich.

THE SCHOOLS

(Qualification: Batting 100 runs; Bowling 10 wickets)

* On name indicates captain. * On figures indicates not out.

ABINGDON SCHOOL

Played 15: Won 6, Lost 4, Drawn 5. Abandoned 1

BATTING									
	Innings	Not Outs			Runs	lighest Inr	IS	Average	
J. W. Slingsby	16		5		1,003		140		91.18
G. R. Halsey	14,		3		302		61		27.45
A. R. A. Johnson	11		2		209		68		23.22
A. S. J. Patchett	12		4		163		34*		20.37
N. A. Marsh	16		1		304		79		20.26
T. P. C. Clift	14	••	2		148		29*		12.33
BOWLING									
	Overs		Maidens		Runs		Wickets		Average
G. R. Halsey	169.5		47		465		23		20.21
M. A. Hurry	134.5		26		373		18		20.72
M. J. S. Dennis	188.1		54		464		22		21.09
W. B. C. Gow	144		32		494		22		22.45
D. A. Game	88		12		418		17		24.58

ALDENHAM SCHOOL

Played 16: Won 5, Lost 3, Drawn 8

BATTING									
	Innings	Not Outs			Runs	F	Highest Inr	ıs	Average
G. Scott	15		6		673		124		74.70
T. Dodd	11		4		257		55*		36.71
J. Bateson	14		0		335		85		23.92
M. Yule	15		2		233		46*		17.92
L. Appenteng	10		1		145		35		16.11
A. Roberts	13		0		194		48		14.92
P. Kerr	14		2		153		56		12.75
BOWLING									
	Overs		Maidens		Runs		Wickets		Average
T. Dodd.	232		68		551		34		16.20
P. Kerr	54		4		225		12		18.75
S. Mills	201.4		47		572	S. 7	29		19.72
P. Roberts	98.5	3.	21		355		10		35.50
R. Savill.	134		26		452		10		45.20

ALLEYN'S SCHOOL, DULWICH

Played 14: Won 3, Lost 5, Drawn 6

Innings	1	Not Out	S	Runs	Hi	ghest In	ns	Average
14		2		319		46		26.58
14	190	1		314	His	92		24.15
14		0		324		65		23.14
9		0		193		52		21.44
14		2		190		44		15.83
11		2		122		39*		13.55
	14 14 9 14	14 14 14 9 14	14 2 14 1 14 0 9 0 14 2	14 2 14 1 14 0 9 0	14 2 319 14 1 314 14 0 324 9 0 193 14 2 190	14 2 319 14 1 314 14 0 324 9 0 193 14 2 190	14 2 319 46 14 1 314 92 14 0 324 65 9 0 193 52 14 2 190 44	14 2 319 46 14 1 314 92 14 0 324 65 9 0 193 52 14 2 190 44

The	Puhi	lic S	choo	ls in	1978
I ILE	I UUI	$\iota\iota\iota$	CHUU	is iii	17/0

841

The Fullic Schools in 1978									
Overs		Maidens		Runs		Wickets		Average	
232		78		440		39		11.28	
85		13		281		17		16.52	
152		39	000	344	1	19		18.10	
143		37		359		19		18.89	
	Overs 232 85 152	Overs 232 85 152	Overs Maidens 232 78 85 13 152 39	Overs Maidens 232 78 85 13 152 39	232 78 440 85 13 281 152 39 344	Overs Maidens Runs 232 78 440 85 13 281 152 39 344	Overs Maidens Runs Wickets 232 . 78 . 440 . 39 85 . 13 . 281 . 17 152 . 39 . 344 . 19	Overs Maidens Runs Wickets 232 . 78 . 440 . 39 85 . 13 . 281 . 17 152 . 39 . 344 . 19 162 . 269 . 344	

ALLHALLOWS SCHOOL

Played 15: Won 7, Lost 2, Drawn 6

BATTING								
	Innings		Not Outs	Runs	I	lighest In	ns	Average
R. J. H. Mather	13		3	 227	-	60*		22.70
M. J. Davies	13	1	2	 221		45		20.09
W. S. B. Collins	14		3	 186	100	36		16.90
C. B. Heape	9		0	 141		40		15.66
J. M. Sprayson	10		0	 145		55		14.50
J. S. Standen-McDougal	12		1	 146		29		13.27
BOWLING								
	Overs		Maidens	Runs		Wickets		Average
S. C. Ellyatt	236.5		74	 538	0.3	46		11.69
N. T. Shortland	91.1		22	 218		18		12.11
*R. D. Higgs	170		54	 390	4	30		13.00
R. J. H. Mather	95.2		27	 239		16		14.93

AMPLEFORTH COLLEGE

Played 17: Won 2, Lost 8, Drawn 7. Abandoned 1

BATTING									
	Innings	Not Outs			Runs	Highest Inns			Average
J. P. Barrett	17		0		512		62		30.11
D. H. Dundas	16		3		379		75		29.15
R. P. G. Wakefield	16		1		307		73*		20.46
A. Calder-Smith	17		0		315		58		18.52
S. Lawson	15		6		153		57*		17.00
J. C. B. Tate	16		1		228		51		15.20
R. Q. Lovegrove	16		1		208		39		13.86
J. H. B. Chancellor	11		0		150		41		13.63
M. Hattrell	13		1		105		25*		8.75
BOWLING									
THE RESERVE AND ADDRESS OF THE PARTY OF THE	Overs		Maidens		Runs		Wickets		Average
J. C. B. Tate	49.4		5		202		17		11.88
P. Howard	174		41		501		34		14.73
D. H. Dundas	99		22		360		17		21.17
S. Lawson	160		38		391		17		23.00
J. Soden-Bird	89.2		21		299		12		24.91

ASHVILLE COLLEGE, HARROGATE

Played 18: Won 12, Lost 1, Drawn 5. Abandoned 1

BATTING	Innings	Not Outs	Runs	Н	ighest Ir	ins	Average
*K. M. Walsh			 800		107		66.66
S. J. Simpson	18	 4	 735		130*		52.50
P. G. Hedges	17	 0	 310		37		
J. D. Kirtley	16	 3	 236		39		18.15
W. R. Stead	13	 5	 123		33		15.37

BOWLING	Overs		Maidens	Runs	Wickets		Average
S. J. Hobson	193.2		63	 402	 48		8.37
H. D. Wealthy	208.4		61	 532	 39		13.64
I.D. Kirtley	116.3	* = 1	25	 437	 30	10.2	14.56
S. M. Blades			21	257	 16		16.06
A.S. Cook	85.4		26	 252	 12		21.00

BABLAKE SCHOOL, COVENTRY

Played 23: Won 10, Lost 4, Drawn 9. Abandoned 4

RATTING									
BATTING	Innings		Not Outs		Runs	H	lighest In	18	Average
M. I. N. Eames	21		5		691		74		43.18
K. A. R. Appleton	22		5		550		66		32.35
M. J. Freeman	14		3		301		72		27.36
G. W. Howe	12		5		122		22*		17.42
R. Clift	11		3		132		72*	2010	16.50
Ri Cilie V									
BOWLING									
V. Standard	Overs		Maidens		Runs		Wickets		Average
W. Matthews	18		4		67		10		6.70
K. A. R. Appleton	123.3		42		289		29		9.96
R. Clift	65		18		161		13		12.38
M. G. Coles	194.2		45		497		36		13.80
M. J. Freeman	67.2		15		208		15	10.00	13.86
G. Nicholls	223	4	69	10.0	480		34		14.11
D. Bevis	78.2		17		199		13	HEM	15.30

BANCROFT'S SCHOOL

Played 15: Won 2, Lost 0, Drawn 13. Abandoned 3

BATTING									
	Innings	Not Outs			Runs	H	lighest Inn	IS	Average
*M. S. Webber	15		1		557		95		39.78
S. J. C. Brookes	13		1		350		63		29.16
C. R. Thomas	11		1		242		71		24.20
P. E. Richardson	15		. 3		273		58*		22.75
S. B. Ince	15		1		316		65		22.57
M. F. Wilkinson	13		6		140		31		20.00
W. N. Giles	12		1		130		18		11.81
DOWN									
BOWLING	913		110.				**** 1		ALC: O
	Overs		Maidens		Runs		Wickets		Average
M. S. Webber	149		27		499		30		16.63
M. F. Wilkinson	152.5		33		537		31		17.32
S. J. C. Brookes	117		34		314		17		18.47
S. Allen	98		32		225		11		20.45
R. L. Bugbee	110.5		30		299		13		23.00

BARNARD CASTLE SCHOOL

Played 12: Won 0, Lost 5, Drawn 7.

BATTING									
	Innings	Not Ou	ts	Runs	Hi	ghest In	ins	Average	
G. R. Duckett	8	 1		224		59		32.00	
C. N. P. Weetman	12	 1		247		54*		22.45	
N. C. Grant	11	 0		189		69		17.18	
M. Harvey.	10	 1		139		37		15.44	

o	4	2	
X	4	-	

BOWLING	Overs	Maidens	Runs	Wickets	A
D. P. Horner					Average
G. R. Duckett					
R. F. W. Kent					
A. Frater					

BEDFORD SCHOOL

Played 17: Won 10, Lost 2, Drawn 5

BATTING									
	Innings	Not Out	S	Runs	Hi	ghest Inr	ıs	Average	
R. J. Boyd-Moss	18	 6		859		126		71.58	
H. R. Ferguson	15	 3		309		97		25.75	
J. A. Holtom	17	 1		386		55		24.12	
D. J. J. Bullock	13	 5		183		51*		22.87	
M. R. Lester	16	 0		366		61		22.87	
S. E. Bradshaw	14	 2		194		31		16.16	
BOWLING									
	Overs	Maidens	S	Runs		Wickets		Average	
R. J. Boyd-Moss	151	 55		301	4	24		12.54	
R. W. M. Palmer	274	 78		701	7	52		13.48	
J. V. S. Sahai	167	 56		361		23		15.69	
M. R. Lester	83	 20	10.	207		12	-	17.25	
P. H. Carroll	104	 25		293	-	15		19.53	
R. J. Wisdish	191	57		469		23	. 20	20.39	
R. J. Wisuisii	171	 31		407		23		20.37	

BEDFORD MODERN SCHOOL

Played 21: Won 5, Lost 8, Drawn 8

BATTING							
	Innings	Not Outs	Runs	F	lighest Inr	ıs	Average
J. R. James	22	 2	 568		101		28.40
D. F. Griffin	19	 1	 372	2	100		20.66
I. G. Jones	19	 1	 357		65*		19.83
G. A. R. Chivers	21	 3	 296		60		16.44
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
J. D. Sturt-Scobie	164.4	 37	 503		32		15.71
D. F. Griffin	130.4	 . 32	 335		17		19.70
G. A. R. Chivers	164.3	 31	 492		24		20.50
*R. J. Yates	195	 44	 553		26		21.26

BERKHAMSTED SCHOOL

Played 15: Won 6, Lost 4, Drawn 5. Abandoned 2

BAITING							
	Innings	Not Outs	Runs	H	ns	Average	
E. P. Neal	16	 2	668		105		47.71
P. J. Allen	13	 3	 322		64		32.20
M. J. Parsons	8	 2	 173		60		28.83
J. A. Watson	15	 0	 372		82		24.80
P. M. T. Fanning	16	 3	 301		49		23.15
M. L. R. Forman	13	 0	 296		67		22.76
P. M. Shorrocks	12	 6	 129		27		21.50
P. S. Carlile	8	 1	 124		48		17.71
P. M. Evans	8	 1	 116		49		16.57
C. Yatawara	12	 3	 114		50*		12.66

BOWLING	Overs	Maidens	Runs	Wickets	Average
M. J. Parsons	112.2	 9	 356	 19	18.73
E. P. Neal	143	 19	 495	 20	 24.75
D D Facer	157	 37	 476	 17	 28.00
M. J. D. Ward	123	 17	 540	 19	 28.42

BIRKENHEAD SCHOOL

Played 14: Won 6, Lost 2, Drawn 6. Abandoned 3

BATTING								
	Innings	Not Out	ts	Runs	Hi	ghest In	ns	Average
D. W. Varey	12	 6		497		87*		82.83
J. G. Varey	12	 5		290		61		41.42
E. J. N. Cook	9	 2		188		42		26.85
A. G. Davies	13	 2		190		35*	100	17.27
BOWLING								
	Overs	Maiden	S	Runs		Wickets		Average
M. Hennock	72.5	 16		160		18		8.88
*S. M. Winter	109	 32		217		24		9.04
D. W. Varey	48.1	 15		117		12	17.14	9.75
J. G. Varey	103.1	 39	CHO.	192		19		10.10

BISHOP'S STORTFORD COLLEGE

Played 18: Won 4, Lost 5, Drawn 9. Abandoned 1

BATTING							
	Innings	Not Outs	Runs	F	Highest Inr	18	Average
P. N. R. Wacey	16	 . 5	 388		57		35.27
A. Bentall	16	 1	 460		67		30.66
T. J. Davies	18	 3	 409		100*		27.26
R. P. Newsome	16	 3	 344		52		26.46
P. C. Emsden	11	 3	 160		52*		20.00
D. L. Bickerton	10	 0	 178		38		17.80
J. P. Ireland	12	 2	 177		43*		17.70
R. L. W. Triggs	17	 1	 231		76		14.43
A. J. D. Pryke	12	 3	 129		42		14.33
A. I. M. Baker	11	 0	 107		29		9.72
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
R. J. Purkiss	182.5	 43	 541		32		16.90
J. P. Ireland	357.5	 98	 1,009		50		20.18
T. J. Guppy	136.3	 23	 489		21	most"	23.28
P. N. R. Wacey	170	 37	 559		18		31.05

BLOXHAM SCHOOL

Played 12: Won 2, Lost 4, Drawn 6

BATTING							
to A want toodalki	Innings	Not Outs	Runs	Hi	ghest Ir	nns	Average
*G. A. Ramsey	12	 0	 293		68		24.41
M. J. Elkins	11	 2	 217		52	0000	24.11
N. N. Holderness	12	 1	 220		67		20.00
J. K. G. Bridgwater	11	 1	 198		45		19.80
N. Cooper	12	 0	 176		30		14.66
G. E. Dibble	12	 2	 102		27		10.20

844	The	Pub	lic Schoo	ls in	1978		
BOWLING G. A. Ramsey	Overs 159.2 74 105 130.4		Maidens 46 9 25 23		Runs 409 201 303 423	 Wickets 22 10 13 18	 Average 18.59 20.10 23.30 23.50
	BLU	ND	ELL'S S	CHC	OOL		
	Played 1	6: W	on 4, Los	t 8, I	Orawn 4		
BATTING	Ditto I. I				_	** 1	

BATTING							
	Innings	Not Outs	Runs	Hi	ghest Inr	ıs	Average
N. S. Brown.	16	 1 .	 551		88		36.73
H. Morris	10	 1	 319		71		35.44
*G. P. Randall Johnson	16	 0	 562		106		35.12
M. G. Craze	16	 1	 462		85		30.80
S. C. E. Putt	16	 0	 371		105		23.18
S. McG. B. Robertson	15	 4	 189		50*		17.18
D. C. Hopkins	15	 3	 179		42		14.91
J. J. Sykes	12	 4	 113		19*		14.12
P. D. Langdon	9	 0	 124		28		13.77
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
G. P. Randall Johnson	134.2	 27	 414		21		19.71
N. S. Brown	230.2	 56	 690		29		23.79
G. R. S. Dive	181.2	 42	 598		24		24.91
J. J. Sykes	195	 59	 597	09/102	19		31.42

BOOTHAM SCHOOL

Played 15: Won 2, Lost 11, Drawn 2

BATTING							
	Innings	Not Outs	Runs	Hi	ighest Inr	15	Average
S. P. Rands	15	 2	 290		79*		22.30
I. J. Hudson	13	 3	 164		43		16.40
*T. C. Barber	9	 2	 114		31		16.28
J. A. W. Clough	15	 2	 211		34*		16.23
C. M. Walker	14	 0	 196		31		14.00
G. W. J. White	12	 2	 137		45		13.70
A. A. Bird	13	 0	 150		44		11.53
A. H. L. Smith	15	 0	 161		32		10.73
BOWLING							
TOP AT HER LAND OF THE PARTY.	Overs	Maidens	Runs		Wickets		Average
A. H. L. Smith	90.3	 13	 343		15		22.86
J. A. W. Clough	100.5	 9	403		16		25.18
C. M. Walker	105.3	 16	 382		15		25.46
G. W. J. White	116	 28	 363		13		27.92

BRADFIELD COLLEGE

Played 15: Won 1, Lost 6, Drawn 8. Abandoned 1

BATTING	Innings		Innings Not Outs				Highest Inns			
S. N. Lee	15.		2		577		103*	9.0	44.38	
N. D. H. Spencer	15		1		322		67		23.00	
*R. T. Helm	14		2		157		41		13.08	
C. R. C. Howgill	11		0		131		28		11.90	
J. W. Humphreys	14		2		132		51*		11.00	
A. J. G. Bryans			3		107		32		9.72	

Overs		Maidens		Runs		Wickets		Average
220.3	0.3	44		655		29		22.58
125.3		15		455		13		35.00
179.3		43		585		16		36.56
	220.3 125.3	220.3 125.3	220.3 44 125.3 15	220.3 44 125.3 15	220.3 44 655 125.3 15 455	220.3 44 655 125.3 15 455	220.3 44 655 29 125.3 15 455 13	220.3 44 655 29 125.3 15 455 13

BRADFORD GRAMMAR SCHOOL

Played 17: Won 6, Lost 5, Drawn 5, Tied 1

BATTING									
DITT 121	Innings	Not Outs			Runs	Highest Inns			Average
S. M. Hewitt	12		5		291		65*		41.57
*P. A. Kellett	15		2		318		58		24.46
W. B. Tait	15		2		208		45		16.00
S. R. Hartley	15		2		190		45		14.61
BOWLING									
5011211	Overs		Maidens		Runs		Wickets		Average
P. A. Kellett	188.1		48		476		51		9.33
J. A. Wooller	113.5		26		320		24		13.33
S. R. Hartley	71		12		230		14		16.42
J. B. Carter	123	0	26		284		16		17.75

BRENTWOOD SCHOOL, ESSEX

Played 17: Won 5, Lost 1, Drawn 11. Abandoned 2

BATTING								
	Innings		Not Outs	Runs	F	Highest Inr	IS	Average
I. L. Pont	17		6	 444		86		40.36
T. J. Riley	17		1	 508		56		31.75
M. J. Ramsay	16		0	 503		89		31.43
R. E. C. Hollington	15		3	 354		72		29.50
C. L. Swift	15		0	 349		53		23.26
P. W. A. Sherlock	14		1	 193		45		14.84
S. M. F. Doran	12		2	 147		39*	in	14.70
BOWLING								
	Overs		Maidens	Runs		Wickets		Average
I. L. Pont	313.3		93	 739		50		14.78
S. M. F. Doran	79.1		27	 193		13		14.84
T. J. Riley	111.5		37	 272		17		16.00
K. E. C. Hollington	188	31.65	56	 517		22		23.50
P. W. A. Sherlock	125		33	 328		13		25.23

BRIGHTON COLLEGE

Played 13: Won 2, Lost 5, Drawn 6, Abandoned 1

BATTING				
	Innings	Not Outs	Runs	Highest Inns Average
J. E. Ager	10	1	361	93 40.11
N. J. K. Wood.	13	1	306	78* 25.50
C. J. Edmonds.	6	1	119	33 23.80
S. C. B. Withers.	9	3	137	51* 22.83
M. Simmonds	12	0	175	41 14.58
G. A. Cordery	11	. 1	131	36* 13.10
BOWLING				
MANAGER 25 SESSION	Overs	Maidens	Runs	Wickets Average
D. R. Thompson	138.3	31	346	18 19.22
N. N. JIVI'al	116	33	308	15 20.53
J. E. F. Jackson	121	. 27	315	12 26.25
N. J. K. Wood	86	16	285	10 28.50

BRYANSTON

Played 15: Won 3, Lost 6, Drawn 6

BATTING							
	Innings	Not Outs	Runs	Highest Inns			Average
*D. J. Townrow	15	 0	 363		81		24.20
A. J. B. Whitney	13	 1	 284		49		23.66
R. W. Beswick	15	 1	 320	44.	69		22.85
J. D. Baker	15	2	 233		94		17.92
R. C. N. Cox	11	 4	 122		29		17.42
G. D. Lettin	12	 1	 152		43		13.81
D. J. Ticehurst	12	 1	 150		61*		13.63
J. Mann	13	 2	 108		34		9.81
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
D. J. Ticehurst	175.2	 43	 476		35		13.60
C. I. J. Cairns	181.2	 20	 660		32		20.62
J. D. Baker	155.3	 41	 410		19		21.57

CANFORD SCHOOL

Played 14: Won 7, Lost 3, Drawn 4. Abandoned 3

	Innings	Not Outs	Runs	H	lighest Inr	IS	Average
*J. J. E. Hardy	14	 3	 455		79		41.36
P. B. Taylor	14	 1	 362		59		27.84
S. Haw	14	 4	 253		55		25.30
J. P. Boyle	9	 3	 101		42		16.83
E. C. Lindsay	13	 0	 163		49		12.53
BOWLING	391	0			W. 1		
	Overs	Maidens	Runs		Wickets		Average
R. P. Garnett	140.1	 42	 312		38		8.21
J. A. Attenborough	53.3	 12	 148		13		11.38
N. J. Greenslade	160	 49	 343		30		11.43
G. C. Gowar	109	 35	 267		15		17.80
P. B. Taylor	76	-11	 234		13		18.00

CHARTERHOUSE

Played 18: Won 7, Lost 3, Drawn 8

BATTING							
	Innings	Not Outs	Runs	H	lighest Inr	15	Average
M. C. Frankland	20	 5	 520		103*		34.66
B. Chatjaval	19	 1	 360		48		20.00
R. C. Doggart	19	 2	 338		50*		19.88
P. D. Griffiths	11	 5	 118		32*		19.66
C. J. Hollis	15	 3	220		48		18.33
Q. E. Wright	20	 0	 359		68		17.95
H. E. Pratt	17	 3	 205		49		14.64
*T. J. Harpur	17	 0	 216		55		12.70
BOWLING							
BOWELING	Overs	Maidens	Runs		Wickets		Average
R. C. Doggart	207	 62	 516		31		16.64
P. D. Griffiths	183	 49	 530		31		17.09
G. D. T. Pride	238.3	 53	 605		33		18.33
M. N. Lovill	234.2	 68	 637		22		28.95

CHELTENHAM COLLEGE

Played 16: Won 4, Lost 3, Drawn 9

BATTING								
and testifit	Innings	Not Outs			Runs	F	Highest Inns	Average
I.R. Lawton	16		5		580		75	52.72
R. P. Blake	16		0		321		76	20.06
S. W. Davies	16		1		272		59	18.13
*K. A. Roberts	14		0		207		45	14.78
D. Stewart	15		2		191		37	14.69
P. M. Salter	16		4	• •	138		30	11.50
ROWLING								
and the second	Overs		Maidens		Runs		Wickets	Average
A. D. Marsh	251.5		45		504		38	13.26
I.E. W. Sanders	270.5		58		676		44	15.36
P. F. Curzon	173		26		580		23	25.21
S. W. Davies	138.5		20		464		15	30.93

CHELTENHAM GRAMMAR SCHOOL

Played 15: Won 7, Lost 1, Drawn 7

BATTING								
	Innings	Not Outs	3	Runs	H	ighest Inr	ıs	Average
C. Minett	14	 8		336		51		56.00
G. Bailey	14	 2		451		103*		37.58
P. Williams	15	 2		334		46*		25.69
M. Breddy	13	 3		242		48*		24.20
T. Fitz	9	 1		126		35*	17.	15.75
BOWLING								
	Overs	Maidens		Runs		Wickets		Average
C. Minett	86	 18		270		27		10.00
P. Toft	49	 7		159		10		15.90
S. Smith	113.3	 29		382		22		17.36
P. Sewter	80	 18		242		13		18.61
G. Bailey	114	 26		359		13		27.61

CHIGWELL SCHOOL

Played 12: Won 3, Lost 3, Drawn 6. Abandoned 4

BATTING										
	Innings	Not Outs			Runs	Hi	ghest In	Average		
R. Leiper	12	238	3	1	458		107		50.88	
P. Quain	11		0		208	15.	49	1	18.90	
M. Laylor	11		0		205		96	- 35.01	18.63	
M. I hompson	8		1	1	118	S	43	100	16.85	
R. Gawn	9		2	1.	100		28		14.28	
BOWLING										
	Overs		Maiden	s	Runs		Wickets		Average	
R. Leiper	80	20	27		194		14		13.85	
A. Kughani	51		6		200		12		16.66	
S. Day	110		35		271		11		24.63	

RATTING

CHRIST COLLEGE, BRECON

Played 14: Won 7, Lost 2, Drawn 5. Abandoned 1

BATTING								
	Innings	Not Outs		Runs	F	Highest In	18	Average
P. L. Thomas	13	 2		374		86	001	34.00
A. L. G. Jones	12	 0		341		84		28.41
W. N. Blyth	13	 4		164		40*		18.22
H. R. Thomas	13	 3		158		42*		15.80
S. Alport	11	 1		148	2 4.00	36		14.80
N. H. Dunn	13	 0		122		23		9.38
BOWLING								
	Overs	Maidens		Runs		Wickets		Average
J. Scurlock-Davies	126.5	 37		299		23		13.00
P. G. Chambers	110	 20		313		23	1.5	13.60
S. A. Spencer	123.3	 26		358		21		17.04
D. M. A. Evans	114.3	 33	٠.	315		16		19.68

CHRIST'S HOSPITAL

Played 13: Won 4, Lost 2, Drawn 6, Tied 1. Abandoned 1

BATTING							
	Innings	Not Outs	Runs	H	lighest In	18	Average
N. Konig	14	 1	 356		82		27.38
D. J. Allen	13	 2	 238		45*		21.63
G. J. Bohane	13	 2	 199		48		18.09
*I. N. Wood	14	 0	 253		44		18.07
A. J. Hutchinson	12	 1	 155		33		14.09
S. J. Lebutt	11	 1	 104		22		10.40
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
S. J. Lebutt	196.5	 64	 477		36		13.25
S. Engering	187	 51	 363		24		15.12
M. K. Scott	138	 45	 290		18		16.11
P. J. Luxmoore	100.3	 28	 299		16		18.68

CITY OF LONDON SCHOOL

Played 12: Won 4, Lost 0, Drawn 8. Abandoned 5

DATTING							
	Innings	Not Outs	Runs	H	lighest Inn	S	Average
S. N. Siddiqui	11	 4	 486		96		69.42
G. P. Arnett	9	 3	 222		76*		37.00
C. A. J. Ryder	6	 2	 144		35		36.00
J. R. Spencer-Payne		 1	 225		58		20.45
*N. D. Townson		 1	 126		43		18.00
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
G. P. Arnett	99.5	 13	 379		29		13.06
N. D. Townson	127.3	 37	 311		18		17.27

CLIFTON COLLEGE

Played 16: Won 4, Lost 2, Drawn 10

RATTING							
and and model	Innings	Not Outs	Runs	F	lighest In	18	Average
C.R. Trembath	17	 1	 643		116		40.18
M. C. Arrindell	16	 3	 439		60		33.76
M. W. Bailey	15	 2	 339		78		26.07
C. W. Purves	9	 3	 100		34		16.66
C. P. Martin	16	 3	 216		31		16.61
C. W. Mullins	16	 0	 255		58		15.93
M. O. M. Chitty	11	 0	 162		33		14.72
S. P. Williams	12	 1	 122		35*		11.09
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
C. R. Trembath	156	 39	 423		24		17.62
M. C. Arrindell	140	 22	 492		24	7	20.50
S. J. Y. Scott	68	 7	 289		12		24.08
M. O. M. Chitty	141	 58	 335		13		25.76
J. C. Mason	128	 30	 311		11		28.27

COLSTON'S SCHOOL, BRISTOL

Played 17: Won 5, Lost 4, Drawn 8. Abandoned 1

BATTING							
William Control of the Control of th	Innings	Not Outs	Runs	Н	lighest In	ns	Average
A. J. Lawrence	16	 3	 705		116*		54.23
*K. Butler	16	 2	 345		69		24.64
M. M. Wyatt	14	 5	 205		92*		22.77
J. W. Bearmore	10	 0	 197		82		19.70
M. J. Green	15	 2	 137		40		10.53
A. M. Davidson	15	 3	 110		23		9.16
BOWLING							
ESSENTED TO THE PERSON OF THE	Overs	Maidens	Runs		Wickets		Average
M. T. Hedgcock	208.5	 54	 541		36		15.02
G. A. Malpass	93.5	 22	 312		14		22.28
D. G. L. Mathias	107.4	 18	 336		14		24.00

CRANBROOK SCHOOL

Played 16: Won 4, Lost 4, Drawn 8. Abandoned 4

BATTING							
Flighest Inne Annu	Innings	Not Outs	Runs	H	ighest In	ns	Average
J. H. Marshall	11	 7	 164		31		41.00
N. P. Brown	13	 4	 326		72*		36.22
A. J. Fraser	14	 1	 468		103		36.00
C. A. Roberts	14	 0	 434		52		31.00
o. B. Pugh	15	 2	 367		120		28.23
n. r. Inomas	15	 1	 305		73*		21.78
R. J. Coleman	7	 1	 115		36*		19.16
BOWLING							
Wickels was Art	Overs	Maidens	Runs		Wickets		Average
R. J. Coleman	97	 21	 306		20		15.30
C. A. Koberts	146	 25	 430		25		17.20
". r. brown	142	 26	 509		22		23.13
J. R. Gurr	156	 39	 457		18		25.38

CRANLEIGH SCHOOL

Played 10: Won 5, Lost 1, Drawn 4

BATTING							
	Innings	Not Outs	Runs	Hi	ghest Inr	ıs	Average
I. R. Wilkie	10	 4	 296		63	a lend	49.33
R. J. Corfield-Ward	9	 4	 194		54	Div.	38.80
I. R. Moulton	10	 0	 211		48	29.00	21.10
D. W. F. Rishworth	7	 0	 121		31	-	17.28
F. R. Dethridge	9	 1	 125		43*	10.11	15.62
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
M. P. Chase	60.1	 15	 187		14		13.35
G. C. W. Webb	116.2	 31	 317		22		14.40
F. R. Dethridge	82.2	 22	 267		15		17.80
D. H. Prentice	80.2	 27	 193		10	co.	19.30
A. C. Lax	132.2	 35	 322		12	b	26.83

CULFORD SCHOOL

Played 6: Won 2, Lost 1, Drawn 3. Abandoned 3

BATTING							
	Innings	Not Outs	Runs	H	lighest Inr	ıs	Average
R. Rush	6	 1	 190		64		38.00
BOWLING							
BOWEING	Overs	Maidens	Runs		Wickets		Average
*S. Brennan	89	 28	 216		15		14.40
C. Williams	52	 19	 103		11		9.36
S. Small	56	 12	 173		13		13.30

DAUNTSEY'S SCHOOL

Played 13: Won 6, Lost 3, Drawn 4

Innings		Not Outs		Runs	F	lighest Inr	18	Average
7		4		112		45*		37.33
11		1		304		62		30.40
11		1		261		67		26.10
11		1		214		75*	1	21.40
9		4		107		59		21.40
9		1		120		27		15.00
10		2		119		39*	90.	14.87
Overs		Maidens		Runs		Wickets		Average
93.1		17		340		23		14.78
110.1		45		271		18		15.05
152.2		37		364		24		15.16
81		20		242		13		18.61
	7 11 11 11 9 9 10 Overs 93.1 110.1 152.2	7 11 11 9 9 10 Overs 93.1 110.1 152.2	7 4 11 1 11 1 11 1 9 4 9 1 10 2 Overs Maidens 93.1 17 110.1 45 152.2 37	7 4 11 1 11 1 11 1 9 4 9 1 10 2 Overs Maidens 93.1 17 110.1 45 152.2 37	7 . 4 . 112 11 . 1 . 304 11 . 1 . 261 11 . 1 . 214 9 . 4 . 107 9 . 1 . 120 10 . 2 . 119 Overs Maidens Runs 93.1 . 17 . 340 110.1 . 45 . 271 152.2 . 37 . 364	7 4 112 11 1 304 11 1 261 11 1 214 9 4 107 9 1 120 10 2 119 Overs Maidens Runs 93.1 17 340 110.1 45 271 152.2 37 364	7 4 112 45* 11 1 304 62 11 1 261 67 11 1 214 75* 9 4 107 59 9 1 120 27 10 2 119 39* Overs Maidens Runs Wickets 93.1 17 340 23 110.1 45 271 18 152.2 37 364 24	7 . 4 . 112 . 45* 11 . 1 . 304 . 62 11 . 1 . 261 . 67 11 . 1 . 214 . 75* 9 . 4 . 107 . 59 9 . 1 . 120 . 27 10 . 2 . 119 . 39* Overs Maidens Runs Wickets 93.1 . 17 . 340 . 23 110.1 . 45 . 271 . 18 152.2 . 37 . 364 . 24

DEAN CLOSE SCHOOL, CHELTENHAM

Played 19: Won 4, Lost 6, Drawn 9. Abandoned 2

BATTING	Innings		Not Outs		Runs	Н	ighest Inn	ıs	Average
W. R. K. Thomas	19	1. 10	0	G. 8	678		84		35.68
T. G. Graveney	19		2		476		84		28.00
	19		3		436		100*		27.25
T. S. Spencer	14		0		291	19.00	63	.916	20.78
R. G. Holder	14		5		192		34*		21.33
S. Murray	A 70 P 100 T		3		221		51	1 51	20.09
H. Patel	14		3	• •			27		12.84
S. Gillies	14		1	• •	167		21		12.04
BOWLING									
DOWDING	Overs		Maidens		Runs		Wickets		Average
W. R. K. Thomas	204.5		53		454		32		14.18
S. Murray	59.1		16		178		11		16.18
	202.5		43		644		38		16.94
T. G. Graveney	105.3		19		308		14		22.00
T. J. Spencer			32		336		13		25.84
C. A. J. Scott.	116.1		32		330		13		25.01

DENSTONE COLLEGE

Played 19: Won 5, Lost 7, Drawn 7. Abandoned 2

BATTING							yyy That
	Innings	Not Outs	Runs	F	lighest Inn	IS	Average
*G. Morgan	17	 0	 572		98		33.64
N. J. B. Illingworth	17	 1	 394		84		24.62
B. C. Roper	17	 1	 374		57*		23.37
J. Pook	12	 1	 225		65		20.45
T. C. Davies	17	 2	 306		58		20.40
M. E. D. Snow	14	3	 183		32*		16.63
J. E. Coulbeck	14	 2	 161		37		13.41
A. J. de Belder	13	 4	 108	••	40*		12.00
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
N. J. B. Illingworth	192.5	 57	 442		33		13.39
A. J. de Belder	220	86	 400		27		14.81
G. Morgan	82.5	 18	 265		16		16.56
D. R. Powell	89	17	 290		11		26.36
T. C. Davies	207	 61	 511		17		30.05

DOUAI SCHOOL

Played 13: Won 7, Lost 1, Drawn 5

BATTING			V A	Andrew P				LL Rose
	Innings		Not Outs	Runs	H	lighest Inr	ıs	Average
*J. Forsyth	12	1	5	 212		43		30.28
R. Keeble	13		2	 209		43	i. si	19.00
J. Richards	12		2	 188		43		18.80
P. Farfan	11		0	 188		45		17.09
K. Tomlinson	10		3	 115		19		16.42
H. Richards	12		1	 175		69		15.90
BOWLING								
	Overs		Maidens	Runs		Wickets		Average
J. Forsyth			87	 393		53		7.41
J. Eldridge	67		14	 159		19		8.36
R Keebla	225 5		60	428		34		12.58

BATTING

DOVER COLLEGE

Played 9: Won 3, Lost 2, Drawn 4

BATTING							
	Innings	Not Outs	Runs	F	lighest In	18	Average
P. Veivers	9	 0	 356		97		39.55
K. J. Dale	8	 1	 193		53*		27.57
N. G. Noble	8	 3	 113		36*		22.60
*W. J. Medlicott	9	 0	 179		49		19.88
J. M. Hinge	9	 1	 124		51*		15.50
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
E. Le Blanc	126.1	 33	 333		17		19.58
M. L. Shaw	91	 18	 279		13		21.46
P. Veivers	89.3	 10	 286		10		28.60

DOWNSIDE SCHOOL

Played 14: Won 2, Lost 0, Drawn 12. Abandoned 1

BATTING								
	Innings		Not Outs	Runs	F	Highest In	ıs	Average
R. T. Vyvyan	12		0	 361		90		30.08
C. H. Wrench	14		0	 382		64		27.28
R. M. Berkeley	14		0	 357		98		25.50
*N. J. McKibbin	14		5	 222		30		24.66
D. W. Reeve Tucker	14		0	 264		48		18.85
D. J. McKechnie	12		3	 164		51		18.22
C. R. Selmon	14	• • •	4	 180	•	44		18.00
BOWLING								
	Overs		Maidens	Runs		Wickets		Average
T. A. Cotterell	217		63	 561		36		15.58
M. J. Greaves	206		69	 536		27		19.85
B. R. Pote Hunt	124		37	 305		15		20.33
P. D. Murphy	128		35	 394		19		20.73

DULWICH COLLEGE

Played 15: Won 5, Lost 4, Drawn 6

	Innings	Not Outs	Runs	F	lighest In	18	Average
J. J. Beere	15	 1	 493		145*		35.21
S. B. Howland	14	 2	 339		85		28.25
T. R. W. Hammond	15	 1	 326		69		23.28
N. M. K. Robinson	12	 1	 189		53*		17.18
C. D. W. Day	15	 2	 179		54*		13.76
N. J. C. Packham	15	 0	 198		44		13.20
D. R. Evans	14	 4	 113		23*	11.05	11.30
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
N. M. K. Robinson	142	 41	 384		22		17.45
J. K. Claydon	108.2	 32	 272		13		20.92
T. R. W. Hammond	219	 55	 644	-	22		29.27
S. B. Howland	149.2	 39	 431		14		30.78

DURHAM SCHOOL

Played 14: Won 4, Lost 3, Drawn 7. Abandoned 3

BATTING	Innings	Not Outs	Runs	F	lighest Inr	ıs	Average
C. J. Kingston	14	 1	 446		107		34.30
J. P. Bland	13	 2	 374		73*		34.00
M. P. Manners	13	 0	 292		71		22.46
R. C. Nelson-Williams	13	 6	 125		22*		17.85
C. J. Brown	13	 2	 157		48*		14.27
BOWLING							
DOMESTIC AND ADDRESS OF THE PARTY OF THE PAR	Overs	Maidens	Runs		Wickets		Average
M. P. Manners	149	 42	 417		32		13.03
A. Kyle	81.1	 22	 214		14		15.28
A. M. Bennett	195	 51	 572		33		17.33
M. Fletcher	111	 28	 319		14		22.78

EASTBOURNE COLLEGE

Played 16: Won 5, Lost 2, Drawn 9. Abandoned 3

BATTING								
	Innings	Not Outs		Runs	H	lighest Inr	ıs	Average
C. J. Lush	14	 2	1.50	339		73		28.25
C. M. Ohlson	16	 6		282		51*		28.20
C. C. Kent	15	 3		292		74	100	24.33
P. A. N. Armstrong	15	 1		333		72	100	23.78
V. Patel	14	 1		303		60*	N. T	23.30
T. G. H. Smart	14	 1		285		47		21.92
J. L. F. Capaldi	15	 1		201		53		14.35
BOWLING								
	Overs	Maidens		Runs		Wickets		Average
C. J. Lush	235	 83		543		35	.53	15.51
P. R. Mansell	204.1	 68		477		29		16.44
V. Patel	197	 43		608		22		27.63
G. S. A. Chamberlayne	131	 40		371		12		30.91

THE EDINBURGH ACADEMY

Played 16: Won 5, Lost 4, Drawn 7

	Innings		Not Outs	Runs	H	lighest In	18	Average
D. C. Hill.	18		1	 697	1	90		41.00
M. P. Davidson	10		6	 131		25		32.75
C. N. R. Yule	10		5	 155		49*		31.00
J. D. Sutton	17		3	 399		100		28.50
R. F. Balfour	18		3	 377		60*		25.13
C. D. Fraser-Darling	14	1.	3	 191	32.	36		17.36
T. J. B. Scott	14		1	 146		53		11.23
BOWLING								
	Overs		Maidens	Runs		Wickets		Average
C. N. R. Yule	196.4		86	 388		38		10.21
N. J. Macnaughton	112.3		26	 295		26		11.34
M. P. Davidson	200.2		78	 412		30		13.73
C. D. Fraser-Darling	134		34	 329		19		17.31
			22	249		12		20.75
T. J. B. Scott	101.4		32	 249		12		20.13

ELIZABETH COLLEGE, GUERNSEY

Played 14: Won 1, Lost 10, Drawn 3

BATTING	Innings	Not Outs	Runs	Н	lighest Inr	ıs	Average
P. D. Wakeford	13	1	 275		98		22.91
P. J. S. Stead	12	 1	 206		50		18.72
S. R. Sullivan	14	 1	 192		39*		14.76
A. F. Priestley	13	 1	 177	1	57*		14.75
*D. P. Redhead	12	 0	 155		66		12.91
S. J. Kail	12	 2	 126		41		12.60
BOWLING							
Water and Alexander	Overs	Maidens	Runs		Wickets		Average
J. R. Ravenscroft	48	 9	 147		11		13.36
D. P. Redhead	116	 30	 309		17		18.17
D. R. Holmes	112.4	 25	 373		19		19.63
J. Lihou	84	 19	 289		11		26.27

ELLESMERE COLLEGE

Played 14: Won 0, Lost 5, Drawn 9. Abandoned 2

BATTING							
	Innings	Not Outs	Runs	Hi	ghest In	ns	Average
*R. F. Smail	12	 3	 227		56		25.22
A. C. Middleton	14	 1	 291		88		22.38
M. M. V. Taylor	14	 0	 238		50		17.00
K. J. Fox	14	 0	 233		53		16.64
I. Owen	13	 0	 196		43		15.07
R. E. J. Watt	14	 6	 108		28*		13.50
D. W. Styles	13	 2	 130		32	• • •	11.81
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
R. F. Smail	224.3	 79	 483		35		13.80
I. Owen	184	 54	 505		24		21.04
R. E. J. Watt	79.5	 12	 264		11		24.00

ELTHAM COLLEGE

Played 15: Won 6, Lost 4, Drawn 5. Abandoned 2

BATTING							
	Innings	Not Outs	Runs	H	lighest Inr	IS	Average
J. V. S. Fullagar	15	 3	 388		59		32.33
R. M. Toms	15	 2	 376		86		28.92
S. Midgeley	11	 2	 222		61*		24.66
N. Holcombe	15	 0	 183		55		12.20
*N. Johnstone	13	 2	 122		38		11.09
P. J. Murray	12	 1	 122		44		11.09
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
R. M. Toms	59.4	 23	 134		13		10.30
A. J. Main	143	 57	 290		28		10.35
J. V. S. Fullagar	129.2	 46	 314		21		14.95
H. D. Sylvester	77	 19	 220		11		20.00

EMANUEL SCHOOL

Played 22: Won 13, Lost 5, Drawn 4. Abandoned 7

BATTING								
	Innings		Not Outs	Runs	H	ighest In	18	Average
B. R. Hardwick	20		2	 644		203*		35.77
D. S. Jeffcott	21		6	 511		77*		34.06
K. R. Agutter	19		1	 357		55*		19.83
M. I. Molyneux	19		2	 311		46		18.29
P. H. Ward	14	4	6	132		23		16.50
N. M. Panteli	15		7	 112		53*		14.00
M. G. Long	18		1	 129		28		7.58
BOWLING								
	Overs		Maidens	Runs		Wickets		Average
K. L. Webster	138.4		50	 300		34	4.0	8.82
G. A. James	213		61	 487		35		13.91
D. S. Jeffcott	133.1		36	 369		24		15.37
M. I. Molyneux	70		14	 198		12		16.50
M. C. Webster	75		10	 288		17	1000	16.94
P. H. Ward	110.3		25	 294		17		17.29

EPSOM COLLEGE

Played 13: Won 2, Lost 7, Drawn 4. Abandoned 1

	Innings	Not Outs	Runs	F	Highest Inr	18	Average
R. J. Humphrys	14	 0	 671		100		47.92
M. R. Seabrooke	12	 1	 380		75*		34.54
S. J. Noss	13	 3	 173		43*		17.30
S. J. Bliss	14	 STATE TON	 161	٠	47*		12.38
T. M. Goodliffe	14	 0	 167		32	7.54	11.92
N. L. Porter	13	 1	 129		40		10.75
J. M. Gould	14	 0	 124		28		8.85
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
M. R. Seabrooke	130	 34	 309		17		18.17
N. J. Baldock	108	 47	 394		21	0	18.76
T. M. Goodliffe	50	 7	 250		13		19.23
J. Reynolds	78	 13	 294		12	H	24.50
J. Appleford	160	47	370	1	15		24.66

ETON COLLEGE

Played 16: Won 3, Lost 1, Drawn 12

THE STATE OF THE S	Innings	1	Not Ou	ts	Runs	H	ighest In	ins	Average
P. W. Morris	19		3		728	110	111		45.50
J. R. Boughey	16		1		450		73		30.00
J. R. Goulder	18		4		403		61*		28.78
C. J. Compton-Burnett	19		1		414		57	TIER	23.00
C. Speke	12		5		138		30*	78. 91	19.71
H. Benthall	16		1		284	410	73	ola to	18.93
P. D. Whitby	14		2	18.0	167		61	19/10	13.91

BATTING

777	D 11.	0 1		1070
ine.	Public	School	sin	19/8

BOWLING					
	Overs		Maidens		Runs
C. G. Crace	232.4	Sink	69	S. Y.	486
T W S Blake	90		30		238

	Overs		Maidens		Runs		Wickets		Average
C. G. Crace	232.4	Sec.	69	3.17	486	19 19	44		11.04
T. W. S. Blake	90		30		238		13		18.30
J. R. C. McLeod	165		36		482		25		19.28
C. J. Davis	133		37		360		18	1000	20.00
P. J. N. Barker	124.2		45		311		15		20.73
C. C. Speke	119		38		407		14		29.07

EXETER SCHOOL

Played 17: Won 6, Lost 5, Drawn 6. Abandoned 2

Innings Not Outs Runs Highest Inns Average G. B. Takle 13 3 253 65 253 A. D. J. Hutcheson 16 2 335 100* 239	OA.
Craft Audito 111111111111111111111111111111111111	SV
A D I II-tabasas 16 2 225 100* 2200	j
A. D. J. Hutcheson	2
I. P. Milton)
J. K. Thomas)
J. H. Perkins	2
A. J. Gregory	5
H. Wash	
BOWLING	
Overs Maidens Runs Wickets Average	ge
J. G. Holding	2
S. M. Jaquiss)
G. H. Stone	1
A. J. Gregory	7
J. H. Perkins	3

FELSTED SCHOOL

Played 19: Won 8, Lost 3, Drawn 8

BATTING	Innings		Not Outs	Runs	H	ighest Inn	IS	Average
N. T. Gadsby	18		5	 799		119*		61.46
M. A. Rigby	19		2	 615		100*		36.17
G. C. Stephenson	17		2	 503		76		33.53
R. M. Mitchell	15		5	 289		69*		28.90
M. J. R. French	17		3	 397		59		28.35
R. N. R. Vartan	15		7	 195		53		24.37
BOWLING	Overs		Maidens	Runs		Wickets		Average
J. L. I. Balch	115		41	 277		25		11.08
N. T. Gadsby	111		36	 270		18		15.00
M. A. Rigby	84	B	24	221		13		17.00
A. J. Macklin	150		46	 416		22		18.90
M. G. Baker	188		68	 426		22		19.36
M. J. R. French	267		85	 628		32		19.62

FETTES COLLEGE

Played 13: Won 3, Lost 5, Drawn 5. Abandoned 1

BATTING									
	Innings Not Outs			Runs	Hi	Average			
R. J. Orr	14		2		378		99*		31.50
A. M. B. Barr-Sim	13		0		227		52		17.46
A. I. Stone-Wigg	12		4		125		34*		15.62
M. J. Baverstock	13		1		180		43		15.00
*T. H. McAdam	14		1		181		51		13.92

BOWLING	Overs	Maidens	Runs	Wickets		Average
R. J. Orr	67.1	 22	 169	 14		12.07
D. T. Brydon		41	 312	 19	mail	16.42
B. B. White		39	 348	 18		19.33
M. D. Stephen	144.1	 32	 345	 16		21.56
A. I. Stone-Wigg	112.2	 22	 402	 12		33.50

FOREST SCHOOL

Played 10: Won 2, Lost 0, Drawn 8. Abandoned 5

BATTING	Innings	Not Outs	Runs	Н	ighest In	ıs	Average
N. Bruce	10	 2	 343		89*		42.87
C. Shokoya	10	 1	 374		116*	8.00	41.55
*R. Andrews	10	 0	 314		99		31.40
G. A. Philip	7	 2	 142		47		28.40
M. J. Karunaratna	8	 2	 111		40		18.50
P. Andriesz	9	 0	 135		38		15.00
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
N. Denby	80	 18	 266		11		24.18
G. A. Philip	87	 17	 284		10		28.40

FRAMLINGHAM COLLEGE

Played 16: Won 7, Lost 4, Drawn 5. Abandoned 2

BATTING							
	Innings	Not Outs	Runs	H	lighest Inr	18	Average
N. J. Hindley	13	 2	 411		133*		37.36
S. A. R. Ferguson	16	 1	 402		74		26.80
G. S. Cowell	9	 5	 104		26		26.00
J. J. Wade	8	 1	 161		67*		23.00
C. S. Pritchard	13	 3	 222		50		22.20
*M. J. Shults	16	 0	 298		59		18.62
C. G. Subba Row	13	 0	 236		65		18.15
F. A. Waugh	15	 0	 187		49		12.46
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
A. T. A. George	164.1	 39	 427		35	A Pro-	12.20
S. A. R. Ferguson	83.5	 17	 276		17		16.23
J. S. Standbrook	168.1	 34	 547		29		18.86
G. S. Cowell	95.4	 17	 292		11		26.54

GIGGLESWICK SCHOOL

Played 13: Won 1, Lost 8, Drawn 4. Abandoned 1

BATTING								
TORLING OF	Innings	Not Out	ts	Runs	Hi	ghest In	nns	Average
M. J. Dixon	13	 0		362		77		27.84
J. D. Parker	7	100		130		47	1.14	21.66
U. J. Hartley	13	0		201				15.46
r. J. L. Wilkinson	13	0		172		34	317.0	13.23
A. I. Hartley	13	2		134				12.18
S. M. Hartley	13	 0		113		35		8.69

The	Puh	lic	Sch	nole	in 1	978
1110	I WU		$\mathbf{D} \mathbf{U} \mathbf{U}$	COULD	LIL	210

BOWLING

	Overs	Maidens	Runs	Wickets	Average
P. Wills	58	 10	 191	 14	 13.64
P. J. L. Wilkinson	157.3	 28	 491	 23	 21.34
S. M. Hartley	181.5	 36	 561	 25	 24.44

GLENALMOND

Played 16: Won 4, Lost 4, Drawn 8. Abandoned 1

BATTING							
	Innings	Not Outs	Runs	F	lighest In	ns	Average
*S. K. Macaulay	16	 2	 531		101		37.92
I. G. Robertson	16	 1	 395		79*		26.33
T. Paterson-Brown	15	 2	 231		62*		17.76
A. G. Houston	16	 4	 199		41		16.58
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
A. L. Johnston	256.4	 95	 536		48		11.16
P. J. L. Sweet	154	 46	 367		27		13.59
A. L. Baines	96	 33	 226		13		17.38

GORDONSTOUN SCHOOL

Played 12: Won 6, Lost 3, Drawn 3

BATTING									
	Innings		Not Out	S	Runs	H	ighest In	18	Average
T. Stobie	11		2		347		119*		38.55
T. R. Sparkes	8		2		118		35*		19.66
*P. Harris	12		0		235	41.5	87		19.58
R. A. H. Jones	11		0		143		42		13.00
T. D. H. Jones	12		0		145		34		12.08
BOWLING									
	Overs		Maiden	S	Runs		Wickets		Average
G. Alireza	43		2		164		17		9.64
T. D. H. Jones	86		22		196		20		9.80
D. J. P. Doughty	75		11		191		16		11.93
W. G. Carrington	45.2	•••	10		142		11		12.90

GRENVILLE COLLEGE, BIDEFORD

Played 9: Won 3, Lost 3, Drawn 2, Tied 1. Abandoned 4

BATTING	Innings	Not Outs	Runs	T.	lighest Inr		Average
*S. S. Naik					79		50.37
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
M. Pitts-Tucker	106.3	 26	 236		33	(1)	7.15
S. S. Naik	36	 6	 119		13	46.	9.15
J. Simmons	62	 15	 164		16	100	10.25

GRESHAM'S SCHOOL

Played 11: Won 4, Lost 3, Drawn 3. Abandoned 1

BATTING							
1001	Innings	Not Outs	Runs	I	Highest In	18	Average
J. D. Cordeaux	11	 1	 330		101	Atri	33.00
N. Taylor	10	 1	 176		39		19.55
P. Mowser	10	 1	 147		48*		16.33
R. Naik	11	 1	 160		65*	1	16.00
H. Hammond	11	 1	 117		25		11.70
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
I. Cleverley	97.3	 26	 230		24		9.58
J. Cordeaux	129.3	 30	 328		22		14.90
D. R. McG. Bruce-Lockhart	97.4	 23	 245		13	bh	18.84
N. Taylor	87	 20	 261		- 11	lie!	23.72

HABERDASHERS' ASKE'S SCHOOL, ELSTREE

Played 17: Won 3, Lost 2, Drawn 12. Abandoned 3

BATTING							
	Innings	Not Outs	Runs	F	Highest Inr	ıs	Average
T. H. Parker	13	 2	 427		90		38.81
C. Churchman	9	 5	 144		59*		36.00
M. J. Bailey	16	 3	 433		53*		33.30
R. Price	16	 3	 287		56*		22.07
A. Beare	12	 2	 203		74*		20.30
M. Wilcock	14	 3	 179		29		16.27
M. Archer	16	 1	 192		27		12.80
*M. S. Weston	11	 2	 105		42		11.66
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
M. S. Weston	212.5	 64	 588		32		18.37
S. Weston	192.3	 61	 574		30		19.13
T. H. Parker	130	 34	 402		16		25.12

HAILEYBURY COLLEGE

Played 13: Won 9, Lost 2, Drawn 2. Abandoned 1

BATTING							
	Innings	Not Outs	Runs	F	lighest In	15	Average
*R. G. P. Ellis	15	 1	 455		108		32.50
A. J. T. Miller	15	 2	 410		61		31.53
P. N. Addison	15	 0	 433		59		28.86
C. J. R. King	15	 4	 242		40		22.00
N. A. Meredith	14	0	288		68		20.57
P. J. F. Wright.	9	 2	 137		39*		19.57
N. W. Anderson	13	 3	 120		20		12.00
BOWLING							
Commence of the commence of th	Overs	Maidens	Runs		Wickets		Average
P. J. F. Wright	142.2	 46	 303		27		11.22
N. G. P. Ellis	187.4	 56	 433		29		14.93
C. J. R. King	95	 20	 213		14		15.21
D. MCG. Hodge	148.2	 44	 340		19		17.89
S. J. Everitt	124.4	 33	 302		12		25.16

HAMPTON SCHOOL

Played 22: Won 7, Lost 4, Drawn 11. Abandoned 2

BATTING								
	Innings	Not Outs		Runs	H	lighest Inr	IS	Average
T. S. Bishop	20	 5	3	1004		100*		66.93
G. M. Smith	14	 4		370		81*		37.00
J. E. C. Poulter	13	 2		282		109*		25.63
N. M. M. Andrews	14	 5		170		40*		18.88
M. J. Cumber	16	 6		146		37*		14.60
A. J. Horsley	16	 2		154		39		11.00
*R. J. Murray	19	 0		198		35		10.42
BATTERO								
BOWLING								
	Overs	Maidens		Runs		Wickets		Average
T. Lambert	190	57		422		33		12.78
R. W. J. Siddle	150	 35		383		28	3	13.67
J. C. R. Hall	126.2	 19		389		28		13.89
C. S. Mailey	182.2	 54		436		30		14.53
N. M. M. Andrews	128.1	 20		376		18		20.88

HARDYE'S SCHOOL, DORCHESTER

Played 14: Won 3, Lost 5, Drawn 6. Abandoned 1

BATTING			-				ALTHUR.
	Innings	Not Outs	Runs	H	lighest Inr	IS	Average
J. C. Dixon	12	 2	 313		85		31.30
D. R. Parry	8	 2	 140		48		23.33
A. I. Holding	14	 0	 271		56		19.35
S. A. Roles	14	 3	 198		33		18.00
A. G. Male	8	 1	 117		28		16.71
R. G. Watts	14	 0	 120		37		8.57
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
*P. S. Beer	131.3	 42	 241		25		9.64
P. S. Frost	139.5	 57	 277		22		12.59
J. C. Dixon	118	 40	 268		20		13.40
R. H. Litson	54.3	 17	 137		10		13.70
S. A. Roles	87	 14	 294		18		16.33

HARROW SCHOOL

Played 15: Won 3. Lost 1, Drawn 11

BATTING								
	Innings	Not Outs		Runs	H	lighest Inr	ıs	Average
T. M. H. James	17	1		560		112		35.00
R. C. Gordon-Lennox	13	 2		332		48		30.18
J. F. P. Lloyd-Jones	13	 7		171		51		28.50
T. R. Jackson	17	 3		380		47		27.14
W. J. Haggas	17	 0		449		69		26.41
D. P. Wiggin	14	 0		282		52		20.14
M. W. J. Ruffell	17.	 2		258		37		17.20
M. J. Sealy	15	 4	• •	166		42	••	15.09
BOWLING								
	Overs	Maidens		Runs		Wickets		Average
T. M. H. James	235	 79		528		45		11.73
W. N. G. Taylor	119	 28		261		20		13.05
J. F. P. Lloyd-Jones	216	 66		457		25		18.28
M. L. Sealy	60	 10		244		11		22.18
C. L. Feather	97	 24		284		12		23.66
A. R. G. Murray	197	 50		560		18		31.11

HIGHGATE SCHOOL

Played 12: Won 0, Lost 10, Drawn 2. Abandoned 2

BATTING	Innings	Not Outs		Runs	F	Highest In	18	Average
N. R. Jacobs	5	 1		104	1100	85		26.00
*J. A. Green	12	 0		259		59		21.58
J. A. Hurst.	10	 2	• •	125		37		15.62
BOWLING								
	Overs	Maidens		Runs		Wickets		Average
C. R. B. Nichol	147	 21		515		21		24.52
A. J. Corbett	131	 23		476		14		34.00

HURSTPIERPOINT COLLEGE

Played 12: Won 4, Lost 3, Drawn 5. Abandoned 2

BATTING								
	Innings	Not Out	S	Runs	H	ighest In	18	Average
D. L. Carnegie	7	 4		140		55*		46.66
C. Parmar	11	 3		319		87*		39.87
H. K. Ballamy	10	 3		211		58*		30.14
*N. R. J. Green	11	 1		239		94		23.90
C. J. Cowley	9	 0	7	142		57		15.77
D. M. Williams	10	 0		144		45		14.40
BOWLING								
	Overs	Maiden	S	Runs		Wickets		Average
C. Parmar	151.5	 46		318		33		9.63
D. L. Carnegie	98	 26		256		17		15.05
N. A. R. Jeffery	110	 24		405		14		28.92

KELLY COLLEGE, TAVISTOCK

Played 15: Won 1, Lost 6, Drawn 8

BATTING								
	Innings	Not Out	ts	Runs	Н	ighest In	ns	Average
R. J. O. Davies	15	 3		363	8	81		30.25
A. W. M. Ward	7	 1		101		30		16.83
R. Barron	14	 2	MILES !	133	and and	24		11.08
P. J. H. Roberts	13	 1		124		25		10.33
1. Mitchell	12	 0		123		28		10.25
R. D. McDonald	12	 0		105		20		8.75
BOWLING								
	Overs	Maiden	S	Runs		Wickets		Average
T. Mitchell.	148.2	 52		397		32		12.40
K. J. O. Davies	101	 16		282		18		15.66
M. H. Khan	106	 23		314		15		20.93
P. J. H. Roberts	52	 14		158		13		12.15

DATTING

KENT COLLEGE, CANTERBURY

Played 13: Won 4, Lost 1, Drawn 8. Abandoned 3

BATTING							
	Innings	Not Outs	Runs	H	ighest Inr	IS	Average
I. P. Jennings	10	 5	 244		57*	5.00	48.80
J. D. Roper	12	 01	 387		100		35.18
F. W. R. Meason	13	 2	 266		60		24.18
N. J. Dyde	8	 3	 113		36		22.60
M. H. B. Weeks	12	 0	 208		67		17.33
J. D. North	11	 2	 156		42		17.33
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
S. R. Binnington	86.3	 18	 228		16		14.25
J. D. Roper	64.4	 18	 193		11		17.54
R. P. Pascoe	115	 36	 350		19		18.42
F. W. R. Meason	80.4	 14	 277		15		18.46
R. G. Gipson	90	 11	 348		11		31.63

KIMBOLTON SCHOOL

Played 16: Won 3, Lost 6, Drawn 7

BATTING								
	Innings		Not Outs	Runs	H	lighest Inr	IS	Average
*M. Wright	15		2	 333		53		25.61
C. A. Miller	10		1	 228		86		25.33
M. J. V. Llewellyn	16		3	 302		101		23.23
J. B. Hunter	14	-	0	 212		56		15.14
S. J. Chown	14		1	 173		39		13.30
BOWLING								
	Overs		Maidens	Runs		Wickets		Average
J. B. Hunter	150.2		41	 396		32		12.37
R. Higgins	156.3		42	 400	45.	24		16.66
M. J. V. Llewellyn	175.4		48	 451		21		21.47
M. W. Lowther	107.1		20	 334		13		25.69

KING EDWARD'S SCHOOL, BIRMINGHAM

Played 21: Won 4, Lost 10, Drawn 7. Abandoned 2

BATTING				-	**	C. L T.		Average
	Innings		Not Outs	Runs	H	lighest Inr	15	
*C. John	16		1	 486		83		32.40
S. J. Fowler	19		1	 327		99		18.16
R. G. Young	16		2	 240		51*		17.14
N. J. Kimberley	18		6	 196		82		16.33
R. I. Harkin	19		1	 254		56		14.11
T. P. Brown	12		01	 106		30		9.63
BOWLING								
	Overs		Maidens	Runs		Wickets		Average
S. E. Fletcher	79.5		12	 286		16		17.87
N. J. Kimberley	206.4		44	 596		27		22.07
T. D. H. Thomas	119	200	37	 344		13		26.46
C. John	165.2		47	 461		17		27.11

KING EDWARD VI SCHOOL, SOUTHAMPTON

Played 20: Won 5, Lost 5, Drawn 10, Abandoned 2

BATTING								
Dive	Innings		Not Outs	Runs	H	lighest Inn	S	Average
R. R. Savage	18		1	 751		81		44.17
C. F. Day	17		1	 366		93		22.87
R. C. Corless	14		2	 247		47		20.58
N. H. Williams	15		1	 239		56		17.07
M. J. Head.	16		3	 214	-	34*		16.46
*I. C. Wright	18		1	 274		88		16.11
N. A. Rogers	13		4	 138		56*		15.33
J. G. W. Sampson	15		4	 115		30*		10.45
BOWLING								
BOWERTS	Overs		Maidens	Runs		Wickets		Average
G. P. J. Staples	201.1	-	46	 501	34.3	51		9.82
M. J. Head.	93.2		17	 349	1	20		17.45
J. R. Coney	84		19	 260		12		21.66
J. G. W. Sampson	181.2		45	 526		21	rela	25.04

KING HENRY VIII SCHOOL, COVENTRY

Played 22: Won 12, Lost 3, Drawn 7. Abandoned 4

BATTING								
	Innings	Not Outs		Runs	F	Highest Inn	IS	Average
T. J. Buttimore	20	 2		551		70*		30.61
*J. D. Freeman	21	 1		537		94		26.85
A. Savage	16	 5		289		80*		26.27
P. D. Herrod	18	 5	0.0	268		38*		20.61
N. M. Footman	22	 2		360		44		18.00
N. P. Cubbage	19	 2		296		63		17.41
P. H. Knight	10	 3		119		53		17.00
A. D. Slater	15	 4		164		30		14.90
N. R. Hollick	15	 5		104		28*		10.40
BOWLING								
	Overs	Maidens		Runs		Wickets		Average
P. A. Sewards	125.2	 40		291		36		8.08
T. J. Buttimore	255	 71		511		51		10.01
J. D. Freeman	94.4	 22		312		26		12.00
P. H. Knight	109.1	 24		435		35		12.42
N. R. Hollick	69	 16		251		17		14.76

KING WILLIAM'S COLLEGE, IOM

Played 15: Won 5, Lost 2, Drawn 8. Abandoned 4

BATTING			101	***			
	Innings	Not Outs	Runs	H	ighest In	ns	Average
M. A. Boyd	17	 4	 651		88*		50.07
M. C. H. Underhill	10	 7	 107		27*		35.66
A. C. Tiplady	9	 2	 160		49		22.85
P. N. Luft	16	 2	 313	-	60		22.35
I. K. Jones	16	 2	 302		63	2.01	21.57
W. M. Bond.	12	4	 146		38*		18.25
S. C. Morris.	10	 2	 118		36*		14.75

7	he	Pul	blic	Sch	nol	c in	197	Q
1	ne	1 III	lic	DUI	uou	SIII	17/0	٥

Krafu.			-					
BOWLING								
	Overs	Maidens		Runs		Wickets		Average
W. M. Bond	183.3	 54	1123	379				11.14
G. N. Johnston	162.3	 46		328		23	•	14.26
J. Zarnegar		 31		317		18		17.61
P. N. Luft		 15		189		10		18.90
M. C. H. Underhill	112	 17		345	100	17	1	20.29
D M Dhilling		20		224				20.29

KING'S COLLEGE SCHOOL, WIMBLEDON

Played 19: Won 6, Lost 1, Drawn 12

BATTING									
	Innings		Not Outs		Runs	Н	ighest In	ns	Average
M. L. Allcock	17		3		719		160*		51.35
J. Ashcroft	18		2		547		100*		34.18
K. R. Thompson	15		0		366	100	87		24.40
S. M. Collard	14		5		203	and the	51		22.55
R. Alikhan	12		2	* *	221	1000	45		22.10
M. A. Staniland	16		4		223	-	39	division.	18.58
R. D. Wates	7		1		106		56		17.66
P. B. Thompson	18		1		274		56		16.11
BOWLING									
	Overs		Maidens		Runs		Wickets		Average
A. M. Bredin	135	CALD.	45	100	352	DEVEN	23		15.30
M. L. Allcock	196.2		65		478	1	27		17.70
*S. P. L. Collyns	229.1		73	3.	635	-	33		19.24
C. J. Montgomery	214.4		71	1	520		24		21.66
S. M. Collard	78	-	13		227		10	The state of	22.70

KING'S COLLEGE, TAUNTON

Played 15: Won 5, Lost 2, Drawn 7, Tied 1. Abandoned 2

	Innings		Not Outs		Runs	I	Highest In	ns	Average
G. Davies	16		3		557		136*		42.84
K. Jarrett	13		4		326		50*		36.22
M. Churchouse	15		3		388		76		32.33
N. Jordan	12		1		260		73	500	23.63
M. Stockton	16		2		263		44		18.78
I. Lothian	12		0		161		44		13.41
BOWLING									
	Overs		Maidens		Runs		Wickets		Average
G. Matthews	250		71		610		41		14.87
M. Churchouse	194		53		513		27		19.00
G. Davies	169	1.12	40	11.3	502	3	22		22.81

KING'S, ELY

Played 12: Won 5, Lost 2, Drawn 5. Abandoned 1

BATTING							
	Innings	Not Outs	Runs	Н	ighest Ir	nns	Average
B. Taylor	11	 2	 615		120*		68.33
R. Chapman	11	 2	 193		36*		21.44
M. Robinson	11	 4	 131		42*		18.71
A. Crowther	8	 1	 100		35		14.28

BOWLING					
J 0	Overs	Maidens	Runs	Wickets	Average
A. J. Wylie	116	 35	 278	 30	 9.26
B. Taylor	45	 6	 156	 10	 15.60
R. Chapman	148	 41	 394	 24	 16.41

KING'S SCHOOL, BRUTON

Played 13: Won 4, Lost 2, Drawn 7. Abandoned 4

BATTING									
and the rest	Innings		Not Outs		Runs	F	Highest Inr	ıs	Average
P. R. Rigiani	12		5		259		51*		37.00
R. W. O. Yateman	11		2	4.	227		100*		25.22
G. M. C. Cordner	12		0		262		86	100	21.83
M. R. Doggrell	11		1		159		37		15.90
*A. D. Jenkins	12		0		176		44		14.66
J. B. W. Stratton	9		0		100		33		11.11
BOWLING									
	Overs		Maidens		Runs		Wickets		Average
A. D. Jenkins	130.4	44	39		321		31		10.35
M. R. Doggrell	172.2		54		354		30		11.80

KING'S SCHOOL, CANTERBURY

Played 13: Won 2, Lost 2, Drawn 9. Abandoned 3

BATTING								
	Innings		Not Outs	Runs	H	lighest In	18	Average
M. D. Barber	13		5	 313		56*		39.12
R. A. Darho	11		3	 280		69*		35.00
C. M. Gilham	12		1	 317		77		28.81
*A. M. N. Rahman	10		1	 209		93		23.22
R. H. Hannah	10		2	 143		52*		17.87
G. D. P. Breeze	9		2	 112		67		16.00
M. A. Smith.	11		1	 138		48	2:00	13.80
BOWLING								
	Overs		Maidens	Runs		Wickets		Average
G. D. P. Breeze	186	-	47	456		28		16.28
A. M. N. Rahman	177		60	 410		25		16.40
D. G. Atcherley-Symes	65		7	 227		12		18.91
J. D. Snonall	76	1	15	 250		11		22.72

KING'S SCHOOL, CHESTER

Played 10: Won 3, Lost 2, Drawn 5. Abandoned 6

BATTING 1. P. Davies A. S. Myers N. R. Harding R. St. J. V. Fisher	Innings 9 9 10 9	 Not Outs 0 1 0 0	Runs 450 151 141 100	Highest Inns Average . 83 . 50.00 . 47 . 18.87 . 50 . 14.10 . 39 . 11.11
BOWLING				
285048.04	Overs	Maidens	Runs	Wickets Average
D. A. C. Owen	133.3	 51	269	25 10.76
m. D.Barber	102.5	 35	196	14 14.00
T. Pullen	67.4	 21	144	10 14.40

KING'S SCHOOL, GLOUCESTER

Played 16: Won 11, Lost 1, Drawn 4

BATTING									
	Innings		Not Outs		Runs	H	lighest Inr	ıs	Average
S. Hamid	22		2		684		116		34.20
N. R. W. Lifely	21	18.	4	. 2	347		62		20.41
M. P. Evans	10		5		101		33		20.20
J. M. Woodliffe	8	500	2	. Str	109	W.	34		18.16
A. H. Cameron	19		5		205		36		14.64
T. J. Edwards	14		0		189		38		13.50
BOWLING									
	Overs		Maidens		Runs		Wickets		Average
J. M. Woodliffe	103.5		38		172		28	100	6.14
J. P. Brain	94.2		24		251		26		9.65
A. H. Cameron	102		21		311		28	w.de	11.10
R. J. Danks	83.5		15		257		21	1070	12.23
D. A. J. Hitchcock	94		23		274		19		14.42

KING'S SCHOOL, MACCLESFIELD

Played 20: Won 8, Lost 1, Drawn 11. Abandoned 6

BATTING								
	Innings	Not Outs		Runs	Highest Inns			Average
G. Orwin	14	 3		315		78		28.63
S. Smedley	16	 1		367		82*		24.46
G. Jenion	18	 0		412		80		22.88
N. Kennington	19	 0		379		56		19.94
*J. Goodfellow	19	 1		317		40		17.61
G. Duffy	6	 0		103		49		17.16
S. Carter	18	6	1419	187		36*	26	15.58
BOWLING								
	Overs	Maidens		Runs		Wickets		Average
P. Shearer	161.3	 33		398		28		14.21
M. Allmand-Smith	98.3	 28		201		14		14.35
J. Cope	156.3	 27		502		34		14.76
S. Carter	172	 31		499		26		19.19
M. Alston	99.2	 16		295		14		21.07
G. Jenion	118.4	 25		284		11		25.81

KING'S SCHOOL, WORCESTER

Played 15: Won 9, Lost 4, Drawn 2

BAITING		RESERVED TO SERVED TO SERV				SAME AND ADDRESS OF THE PARTY O			
	Innings		Not Outs		Runs	Highest Inns			Average
A. M. Townsend	15	SHIP	4	1.16	427	10.0	107*		38.81
F. M. N. Sutton	14		2		407		98		33.91
D. C. Hudson	9		2		173		52*		24.71
S. L. Preece	10		3		127		24*		18.14
P. C. C. Sørenson	11		2		135		35*		15.00
G. Spicer	13		1		163		44		13.58
P. Wood	11		1		106		27		10.60
BOWLING									
	Overs		Maidens		Runs		Wickets		Average
J. Coombs	149		37		429		28		15.32
T. C. Campion	152		40		507		32		15.84
J. Buckley	113		22		419		25		16.76
J. Cowper	157		36		451		19		23.73

KINGSWOOD SCHOOL, BATH

Played 14: Won 0, Lost 5, Drawn 9

BATTING									
IN THE STATE OF TH	Innings	Not Outs			Runs	H	lighest Inr	18	Average
A. J. Bradbeer	11	3	3	B	254		65		31.75
N. G. Handyside	14		0		414		68		29.57
A. D. Rogers	13		4		169		38		18.77
*D. P. W. Deakin	14		0		204		52	-	14.57
A. P. Batchelor	10		0		110		24		11.00
R. V. Sharples	13		0		129		46		9.92
BOWLING									
	Overs		Maidens	3	Runs		Wickets		Average
D. P. W. Deakin	72.5		7		291		20		14.55
A. P. Batchelor	140		31		391		22		17.77
A. J. Mason	104		20		255		12		21.25
L. J. Morris	136.1		31		363		15		24.20

LANCASTER ROYAL GRAMMAR SCHOOL

Played 14: Won 2, Lost 3, Drawn 9. Abandoned 3

BATTING								
	Innings	Not Outs		Runs	F	Highest Inr	ıs	Average
I. Ralston	14	 2		405		77		33.75
D. S. Hutcheson	11	 3		152	١	57*		19.00
S. Ralston	10	 2		126		29*		15.75
*A. C. Twiname	14	 2		131	11.	26		10.91
G. J. Ellis.	12	 1	••	111	• • •	24*	•	10.09
BOWLING								
	Overs	Maidens		Runs		Wickets		Average
N. F. Gregson	172	 54		306		23		13.30
R. Low	105.5	 24		297		20		14.85
I. Ralston	111.5	 23		344		19		18.10

LANCING COLLEGE

Played 17: Won 8, Lost 1, Drawn 8

BATTING							
	Innings	Not Outs	Runs	H	lighest Inn	S	Average
*W. E. J. Barrington	17	 4	 615		78		47.30
E. R. G. Heaslip	16	 5	 373		53*		33.90
S. J. P. Johnston	16	 0	 462		64		28.87
S. A. H. Head	16	 1	 359		58		23.93
J. L. St P. Mansfield	8	 2	 100		31*		16.66
B. W. R. Hoolahan	14	 5	 142		28		15.77
M. C. Calvert-Lee	8	 1	 109		52*		15.57
BOWLING							
AND ALL SELECTION OF THE PARTY	Overs	Maidens	Runs		Wickets		Average
S. J. P. Johnston	135.4	 35	 349		27		12.92
R. B. Fawssett	198.1	 47	 518		30		17.26
K. P. Q. Rhodes	148.2	 40	 420		20		21.00
1. M. Trounce	75.5	 16	 226		10		22.60
W. E. J. Barrington	92	 28	 260		11		23.63
B. W. R. Hoolahan	105	 34	 268		10		26.80

LEEDS GRAMMAR SCHOOL

Played 18: Won 2, Lost 6, Drawn 10. Abandoned 1

BATTING							
	Innings	Not Outs	Runs	Hi	ghest In	18	Average
N. S. R. Brooke	18	 2	 554		115*		34.62
R. H. Sharp	18	 1	 431		81*		25.35
N. D. Edwards	15	 3	 276		55*		23.00
A. R. Henry	18	 3	 277		75*		18.46
P. Stoker	18	 0	 253		49		14.05
*K. M. Nunn	12	 0	 116		30		9.66
BOWLING							
22.34 00 14.35	Overs	Maidens	Runs		Wickets		Average
R. H. Sharp	171.1	 46	 459		25	Had	18.36
M. D. Sims	70	 13	 307		13		23.61
P. Stoker	90.3	 15	 330		13		25.38
P. B. Sutcliffe	141	 23	 433		15		28.86
B. P. Coombes	172.2	 41	 498		16		31.12

THE LEYS SCHOOL, CAMBRIDGE

Played 17: Won 6, Lost 3, Drawn 8

BATTING							
	Innings	Not Outs	Runs	Highest In		18	Average
D. C. R. Young	15	 3	 397		62*		33.08
R. J. Felton	17	 5	 392		62*		32.66
N. E. Gallimore	17	 3	 367		76		26.21
A. D. Rolfe	16	 0	 301		49		18.81
T. A. J. Brookes	12	 2	 161		37*		16.61
M. J. Felton	16	 0	 246		37		15.37
I. Ashken	12	 4	 116		25*	000	14.50
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
N. A. Oughtred	158	 31	 483		29		16.65
R. A. J. Price	129.5	 38	 353		21		16.80
D. C. R. Young	245	 77	 590		35		16.85
T. Webster	161.5	 37	 423		22		19.22

LIVERPOOL COLLEGE

Played 14: Won 1, Lost 7, Drawn 6

BATTING							
	Innings	Not Outs	Runs	F	lighest In	ns	Average
M. G. Downey	13	 1	 275		53		22.91
I. C. Brown	11	 1	 223		69		22.30
*N. A. Moss	14	 0	 277		62		19.78
C. D. Ranasinghe	12	 2	 -134		42		13.40
J. J. Cook	11	 1	 129		29*		12.90
D. N. Coward	11	 0	 126		27		11.45
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
A. W. Watt	79	 20	 248		15	20.0	16.53
R. J. A. Hooley	79.5	 16	 239		14		17.07
C. D. Ranasinghe	96	 13	 317		13		24.38

LLANDOVERY COLLEGE

Played 14: Won 6, Lost 2, Drawn 6

BATTING	Innings	N	lot Outs	Runs	F	lighest Inr	ıs	Average
R. C. Hathaway	11		1	 187		60*		18.70
A. Hathaway	8		0	 123		31		15.37
P. Jeffreys	14		1	 167		35		12.84
S. W. Edwards	13		1	 137		24		11.41
ROWLING								
No Residence and the second	Overs	N	Maidens	Runs		Wickets		Average
P. A. Howells	40		12	 85		10		8.50
D. Owen	68.3	25	26	 111		12		9.25
M. Parry-Jones	111		32	 228		22		10.36
*H. V. Bowen	103.4		24	 325		31		10.48
R. B. V. Rees	63.2		17	 201		14		14.35

LORD WANDSWORTH COLLEGE

Played 11: Won 4, Lost 0, Drawn 7

L. P. Bailey 12 1 341 117 31.00 P. J. Heath 9 3 100 48* 16.66 *C. P. Hesse 10 2 117 37 14.62 G. Fisher 11 2 131 47 14.55	BATTING									
P.J. Heath. 9 3 100 48* 16.66 *C. P. Hesse 10 2 117 37 14.62 G. Fisher. 11 2 131 47 14.55		Innings	Not Outs			Runs	Н	ighest In	ns	Average
*C. P. Hesse		12		1		341				
G. Fisher	P. J. Heath	9		3		100		48*		16.66
		10		2		117		37		14.62
G D C White 11 1 122 54# 12.20	G. Fisher	11		2		131		47	10.10	14.55
	G. D. G. White	011		1		133		54*	380	13.30
Q.T.R. Sands	Q. T. R. Sands	12			•••	159		33	• • • •	13.25
BOWLING	BOWLING									
Overs Maidens Runs Wickets Average		Overs		Maidens		Runs		Wickets		Average
S. M. May	S. M. May	125.5		33		288		24	inde:	
N. Gauld	N. Gauld	46.4		9		151		12		12.58
P. J. Heath	P. J. Heath	83		20		248		19	alera.	13.05
C. P. Hesse	C. P. Hesse	133.4		29		377		23		16.39

LORETTO SCHOOL

Played 14: Won 3, Lost 3, Drawn 8. Abandoned 1

BATTING							
	Innings	Not Outs	Runs	F	lighest In	ıs	Average
*H. M. Joseph	14	 1	 267		66		20.53
E. A. Macaskill	13	 1	 237		48		19.75
S. W. Trail.	10	 1	 146		55		16.22
C. W. Bisland	14	 2	 162	4 3	61*	200	13.50
J. Wynn.	9	 0	 119		26		13.22
BOWLING							
DOWLING	0	14:1	D		XX7: -1		Charles and
D.C. M.	Overs	Maidens	Runs		Wickets		Average
D. S. Nisbet.	103.2	 24	 291		23		12.65
I. C. M Rowe	99.1	 33	 226		16		14.12
M. G. Bell	203	 48	 543		32	-110	16.96
A. A. M. Macbeath	126	 31	 309		12		25.75

The Public Schools in 1978

MAGDALEN COLLEGE SCHOOL, OXFORD

Played 18: Won 7, Lost 5, Drawn 6

BATTING							
	Innings	Not Outs	Runs	H	lighest Inr	IS	Average
*C. W. B. Anstey	18	 0	 579		97		32.16
C. J. Lloyd	18	 3	 294		74		19.60
D. H. Brown	16	 2	 261		36		18.64
P. S. Morris	16	 1	 273		78		18.20
M. A. S. Kilgour	8	 1	 117		35		16.71
R. H. G. Watson	17	 1	 265		39		16.56
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
P. J. Lewis	178	 51	 432		34		12.70
C. R. Staniforth	66	 12	 193		13		14.84
J. M. Bernau	211	 44	 536		29		18.48
R. H. G. Watson	143	 31	 495		24		20.62

MALVERN COLLEGE

Played 15: Won 1, Lost 5, Drawn 9. Abandoned 1

BATTING								
	Innings		Not Outs	Runs	H	lighest Inn	IS	Average
C. Price	15		0	 542		87		36.13
*M. G. A. McLintock	11		2	 309		72		34.33
R. R. Simpson	5	. 2	014	 117		37		29.25
R. J. Williams	15		0	 276		59		18.40
P. J. Prifti	14		1	 223		40		17.15
J. M. Cheele	12		2	 168		26*		16.80
J. M. M. Nicolson	12		1 .	 167		35		15.18
L. V. C. Lovewell	14		2	 160		36		13.33
BOWLING								
	Overs		Maidens	Runs		Wickets		Average
R. R. Simpson	75		25	 232		12		19.33
D. J. Houghton	75		22	 216		11		19.63
D. G. Darby	226.4		50	 680		30		22.66
L. V. C. Lovewell	102.3		20	 365		14		26.07
J. M. Cheele	75.4		19	 316		10		31.60

THE MANCHESTER GRAMMAR SCHOOL

Played 15: Won 2, Lost 5, Drawn 8

BATTING							
	Innings	Not Outs	Runs	F	lighest Inr	18	Average
P. Moore	15	 2	 318		54*		24.46
S. M. Cook	14	 4	 225		62		22.50
A. N. Walton	12	 3	 167		39		18.55
P. Southern	14	 1	 205		59		15.76
M. P. Conniff	12	 1	 158		51		14.36
A. D. Creme	12	 0	 147		31		12.25
C. D. Barker	10	 1	 109		25	• •	12.11
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
F. J. Brown	42	 6	 142		10		14.20
N. J. Troup	156.2	 53	 371		25		14.84
M. P. Lawrence	152.1	 27	 432		20		21.60
P. A. Bacon	135.4	 34	 330		14		23.57
P. Southern	103.2	 31	 273		11		24.81

MARLBOROUGH COLLEGE

Played 15: Won 4, Lost 4, Drawn 7, Abandoned 1

BATTING								
BATTING	Innings	Not Out	S	Runs	H	lighest Inr	ıs	Average
S. J. Lillyman	17	1		647		110*		40.43
*C. F. Worlidge	17	 1		596		83		37.25
F. J. Cunningham	15	1	27	425		77		30.35
S. I. Hall	15	 4		176		45		16.00
H. W. D. Beckwith	14	3	7.7	173		46		15.72
M. Stewart	15	 0		179		35		11.93
I.R. G. Robinson	16	 1		173		37		11.53
A. K. Hampel	16	 1		172		40		11.46
Tomorran, Later								
BOWLING								
	Overs	Maiden	S	Runs		Wickets		Average
R. M. A. Vivyan	299	 125		616		36		17.11
S. J. Lillyman	293	 57		657		33	999	19.90
A. J. Naylor	112	 32		285		10		28.50
M. R. Field	112	 19		373		12		31.08
E. J. Cunningham	215	 59	AC.	494		13		38.00

MERCHANT TAYLORS' SCHOOL, CROSBY

Played 11: Won 1, Lost 1, Drawn 9. Abandoned 5

BATTING	Innings	Not Outs	Runs	Runs Highest Inns					
I. D. Gouldbourne	10	 1	244		78		27.11		
N. P. Gleeson	11	 2	218		65		24.22		
D. A. Taylor	8	 3	111		25*		22.20		
T. J. Bostock	10	 1	188		51*		20.88		
*S. M. Isherwood	9	 0	109		32		12.11		
BOWLING		ersteM	No						
	Overs	Maidens	Runs		Wickets		Average		
S. S. C. Burnett	148.3	 38	465	••	23	••	20.21		

MERCHANT TAYLORS' SCHOOL, NORTHWOOD

Played 13: Won 3, Lost 4, Drawn 6. Abandoned 2

BATTING	Innings		Not Outs	Runs	н	ighest Inr	10	Average
	Innings				11			
N. G. Smith	12		2	 349		102*		34.90
G. B. Leno	12		4	 257		114*	.00	32.12
S. Piercy	6		0	 153		65	N.	25.50
G. J. Warren	9		0	 138		35	7	15.33
. J. Legge	11		1	 140		27	100	14.00
R. J. Wolff.	12	٠	2	 100		29		10.00
BOWLING								
01	Overs		Maidens	Runs		Wickets		Average
G. B. Leno.	153		41	 349		22		15.86
N. G. Smith.	119		29	 324	-	20	1	16.20
I. O. R. Rimmington	146.5		43	 429		26		16.50
R. M. Holton	76.5		18	 230		11		20.90

.. 16.00

MERCHISTON CASTLE SCHOOL

Played	17:	Won 1,	Lost 4,	Drawn 12
--------	-----	--------	---------	----------

BATTING	Innings	Not Outs	Runs	н	ighest Inn	Average
	Innings	A STATE OF THE STA				
P. D. Barbour	18	 0	 544		77	 30.22
*J. A. Turnbull	11	 0	 306		67	 27.81
N. H. Cairns	18	 3	 283		100*	 18.86
C. M. Oakshott	18	 0	 285	- 1.1.	56	 15.83
J. A. Horton	18	 3	 234	- 1.1.	72*	 15.60
R. A. Young	18	 0	 267		46	 14.83
D. J. Ritchie	17	 2	 176		54*	 11.73
S. G. Carson	17	 2	 122		21	 8.13
BOWLING						
S T Lands	Overs	Maidens	Runs		Wickets	Average
N. H. Cairns	169	 46	 324		23	 14.08
G. I. Simpson	245	 84	 524		36	 14.55
P. D. Barbour	280	 93	 653		36	 18.13
D. G. Arnot.	101	 31	 377		15	 25.13

MILL HILL

Played 19: Won 6, Lost 4, Drawn 9

BATTING									
	Innings		Not Outs		Runs	Hi	ghest Inr	ıs	Average
K. Walli	3		0		118		61		39.33
D. S. Michie	18	100	out 1 mo	1	582	Borink	104		34.23
J. C. J. Culverhouse	14		3		231		62		21.00
S. F. Wernham	18		4		262		54		18.71
H. K. Sethia	18		mo pu	3	305		76		17.94
G. D. H. Fitzgerald	11		3		129		33		16.12
L. C. Newton	13		3		149		50		14.90
I. Maciver	13		2		131		47		11.90
R. Navlor	17		2		123		45		8.20
DOWN INC									
BOWLING	Owen		Maidens		Runs		Wickets		Average
Links of the Control	Overs								
I. Maciver	348.1		137		674		58		11.62
H. K. Sethia	118.3		40		275		21		13.05
G. D. H. Fitzgerald	120.2		33		252		19		13.26
L. C. Newton	219		70		452		27		16.74
D. S. Michie	175		58		368		14		26.28

MILLFIELD SCHOOL

Played 18: Won 6, Lost 6, Drawn 6. Abandoned 1

BATTING								
	Innings	Not Outs		Runs	H	lighest Inn	S	Average
N. A. Felton	19	 2		897		126*		52.76
S. T. T. Wilkinson	9	 5		178		56*		44.50
M. J. Bamber	14	 2		396		74*		33.00
R. P. H. Barker	18	 3		441		75		29.40
C. J. Picken	11	 2		139		43		15.44
BOWLING	Overs	Maidens		Runs		Wickets		Average
S. T. T. Wilkinson	11	 0		36		10		3.60
C. J. Picken	63	 16		219		15		14.60
S. A. R. Willatt	105	 28		258		13		19.84
M. T. Hulbert	122	 24		265		12		22.08
P. M. Freeth	246	 60	7	705		27		26.11

MILTON ABBEY SCHOOL

Played 15: Won 6, Lost 4, Drawn 5

BATTING	Innings	Not Outs	Runs	Н	lighest Inr	ıs	Average
C.I. Wolrige-Gordon	15	 2	 403		54*		31.00
*I. V. Booth	15	 0	 337		71		22.46
A. D. H. Geffen	13	 1	 148		33		12.33
G. A. Lawrence.	15	 1	 145	•••	32		10.35
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
P. F. Riseley-Prichard	194.1	 68	 407		47		8.65
G.M. Cookman	52.1	 16	 175		15		11.66
C-I. Wolrige-Gordon	88.2	 21	 270		17		15.88
V C V Chattan	157 3	11	384		24		16 00

384

MONKTON COMBE SCHOOL

M.S. K. Chattey 157.3 . . 44

Played 18: Won 7, Lost 5, Drawn 6

BATTING							
	Innings	Not Outs	Runs	H	ighest In	18	Average
A. J. M. Spear	17	 5	 454		71*		37.83
I. C. Prest	18	 TO I	 417		53		24.52
M. J. C. Edwards	17	 3	 287		61		20.50
A. K. S. Gough	18	 4	 272		48	90	19.42
R. A. Leakey	15	 5	 190		36*		19.00
M. S. Thomson	16	 0	 155		36		9.68
BOWLING							
Wickets Ayout	Overs	Maidens	Runs		Wickets		Average
D. Dean	62.5	 17	 147		12		12.25
R. A. Leakey	205.5	 41	 464		25		18.56
A. J. East	137.4	 39	 391		21		18.61
B. J. Murray-Cox	184.4	 48	 507		24	dish	21.12
A. K. S. Gough	94	 24	 312		14		22.28

MONMOUTH SCHOOL

Played 15: Won 5, Lost 1, Drawn 9. Abandoned 1

BATTING								
Committee and	Innings	Not Outs		Runs	H	ighest In	ns	Average
M. G. Davies	13	 3		405		101*		40.50
L. Benson	13	 1		445		84	1000	37.08
J. J. Davies	5	 1		115		77		28.75
R. B. Williams	9	4		136		47*		27.20
R. T. McCrone	13	 2		269		52		24.45
A. G. Davies	13	 5		119		42*	.01	14.87
BOWLING								
	Overs	Maidens		Runs		Wickets		Average
L. M. R. Coombs	62.3	 17		158		15		10.53
A. P. Scripps	159.5	 41	4.4	351		29	0000	12.10
r. Pullin-Thomas.	154.2	 46		319		22	- 34	14.50
J. J. Davies	148.3	 36		419		23	10.	18.21

NOTTINGHAM HIGH SCHOOL

Played 24: Won 10, Lost 2, Drawn 12. Abandoned 5

BATTING								
	Innings	Not Outs		Runs	H	lighest Inr	ıs	Average
J. D. Allen	25	 3		653		78		29.68
A. D. Lees	14	 6		218		50		27.25
C. J. Deas	25	 2		575		94		25.00
M. A. Briggs	18	 3		324		97		21.60
P. A. J. Gregory	18	 5		251		43		19.30
J. R. Hinde	24	 4		377		57		18.85
N. K. James	11	 4		112		59		16.00
BOWLING								
	Overs	Maidens		Runs		Wickets		Average
S. J. Turrill	423.1	 152		888		74		12.00
P. A. J. Gregory	135.5	 51		286		19		15.05
J. D. Allen	139.2	 52		217		12		18.08
M. J. R. Hemphrey	196.4	 61		514		27		19.03
M. J. Bancroft	224.4	 44		623		31		20.09
N. K. James	285.1	 74	01	761		33		23.06

OAKHAM SCHOOL

Played 14: Won 3, Lost 3, Drawn 8. Abandoned 4

BATTING	Innings	Not Outs	Runs	Н	lighest Int	18	Average
M. Callun	6	 4	 120		41		60.00
A. S. Thorpe	14	4	 413		103		41.30
*J. W. Podd	14	 0	396		97		28.28
D. Kingham	12	 101	 248		40*		22.54
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
S. Mehra	114	 30	 319		25		12.76
D. Kingham	100.4	 33	 225		13		17.30
S. Kadiwar	109	 33	 216		11		19.63
P. Bromwich	104	 29	 291		14		20.78

OUNDLE SCHOOL

Played 17: Won 5, Lost 4, Drawn 8

BATTING							
	Innings	Not Outs	Runs	F	lighest In	18	Average
*K. I. Hodgson	10	 3	 582		124		83.14
G. M. Leivers	13	 1	 332		131		27.66
S. J. Matthews	17	 0	 437		103		25.70
C. J. Longbottom	17	 1	 372		90*		23.25
C. I. Hardy	16	3	 235	1	51*		18.07
M. R. Helston	15	 4	 157		27		14.27
C. R. Millington	12	 4	 112		31*		14.00
N. A. Fraser	11	 0	 100		57		9.09
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
K. I. Hodgson	46	 10	 132		10		13.20
S. J. Whittle	125	 22	 458		24		19.08
C. I. Hardy	60	 11	 227		11		20.63
R. E. Johnson	134	 23	 495		21		23.57
I. D. Crowe	195	 38	 694		23		30.17
M. R. Helston	154	 23	 576		19		30.31

PERSE SCHOOL, CAMBRIDGE

Played 15: Won 2, Lost 5, Drawn 8

BATTING								
D.	Innings	Not Outs		Runs	H	lighest Inn	S	Average
*K. F. Haydon	15	 0 1		430		80		30.71
A. G. Sumnall	15	 3		322		99		26.83
I. H. Wilkinson	14	 4		217		41*		21.70
R. T. Fowlds	15	 0		212		41		14.13
D. H. Larcombe	9	 1		105		30	0.01	13.12
P. D. F. Johnston	13	 . 0		169		81	11.0	13.00
M. A. Pearson	11	 2		107		21		11.88
P. D. Winckles	15	 1		120		32		8.57
BOWLING								
38	Overs	Maidens		Runs		Wickets		Average
D. H. Larcombe	60	 14		210		15		14.00
J. H. Wilkinson	58	 9		177		12		14.75
J. M. D. McKinley	180.5	 65	7.10	474		27		17.55
S. M. Newton	86.5	 20		261		14		18.64
K. F. Haydon	134	 40		312		15		20.80
P. J. R. Whitehead	126	26		401		15		2672
1101111 1111111111111111111111111111111	120	 20		401		15		26.73

PLYMOUTH COLLEGE

Played 21: Won 14, Lost 3, Drawn 4

BATTING							
	Innings	Not Outs	Runs	F	Highest In	18	Average
F. P. Allies	21	 3	 751		95*		41.72
*C. L. L. Gabbitass	19	 8	 445		70	100	40.45
A. W. Brooks	17	 5	 468		93		39.00
G. J. Paige	20	 3	 431		83*		25.35
R. C. Moiser	17	 4	 190		53		14.61
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
C. R. Trevail	101.4	 29	 296		29		10.20
K. R. Waters	62.5	 18	 158		15		10.53
A. Seymour	46	 14	 162		13		12.46
A. J. Moore	252	 61	 656		49		13.38
A. B. Allies	175.4	 36	 538		35		15.37

POCKLINGTON SCHOOL

Played 25: Won 14, Lost 1, Drawn 10													
BATTING	saalii												
	Innings		Not Outs		Runs	H	lighest In	ns	Average				
J. D. Guillen	25		3		967		127		43.95				
A. G. Brumfield	23		6		719		100		42.29				
J. R. Stockdale	16		10		140		30	000	23.33				
W. L. Burns	24		3		430		74*		20.47				
A. C. Shanks	22		5		316		59		18.58				
D. G. C. Wood	24		1		301		61		13.08				
BOWLING													
	Overs		Maidens		Runs		Wickets		Average				
A. G. Brumfield	118.4		43		259		21		12.33				
A. C. Shanks	254.2		76		602		41		14.68				
U. C. Boore	80.1		20		181		12		15.08				
D. G. C. Wood	186.4		32		574		36		15.94				
E. M. Readman	178.3		57		369		21		17.57				
J. K. Stockdale	188.2		65		444		22		20.18				
P. L. Edmunds	173.3		33		492		24		20.50				

QUEEN ELIZABETH GRAMMAR SCHOOL, WAKEFIELD

Played 16: Won 5, Lost 2, Drawn 9

BATTING								
	Innings	Not Ou	ts	Runs	H	lighest In	18	Average
M. L. Varley	15	 3		350		103*		29.16
J. M. Haworth	12	 1		228		52*		20.72
*R. Bowers	16	 0		291		55		18.18
C. D. Mitton	15	 2		142		36		10.92
A. Yeatman	15	 4		108		22*	300	9.81
J. S. Pease	14	 1		108		28	9	8.30
BOWLING								
	Overs	Maiden	IS	Runs		Wickets		Average
J. M. Haworth	128	 40		268		38		7.05
N. L. Chapman	142	 37		331		29	100	11.41
M. L. Varley	149	 39		289		22	1000	13.13
C. D. Mitton	171	 50		365		25		14.60

QUEEN'S COLLEGE, TAUNTON

Played 16: Won 9, Lost 1, Drawn 6. Abandoned 2

Innings		Not Outs		Runs	Hi	ghest Inr	18	Average
15		2		526		76		40.46
14		4		333		59*		33.30
9		3		138	1219	40		23.00
15		2		282		73	20	21.69
12		2		197	15000	43		19.70
11		3		111	The second	43*		13.87
11		1		121		22		12.10
Overs		Maidens		Runs		Wickets		Average
212.5		85		493		41		12.02
191.5		55		481	-	40		12.02
68.4		17		181		14		12.92
	15 14 9 15 12 11 11 Overs 212.5 191.5	15 14 9 15 12 11 11 Overs 212.5 191.5	15 2 14 4 9 3 15 2 12 2 11 3 11 1 Overs Maidens 212.5 85 191.5 55	15 2 14 4 9 3 15 2 12 2 11 3 11 1 Overs Maidens 212.5 85 191.5 55	15 . 2 . 526 14 . 4 . 333 9 . 3 . 138 15 . 2 . 282 12 . 2 . 197 11 . 3 . 111 11 . 1 . 121 Overs Maidens Runs 212.5 . 85 . 493 191.5 . 55 . 481	15 2 526 14 4 333 9 3 138 15 2 282 12 2 197 11 3 111 11 1 121 Overs Maidens Runs 212.5 85 493 191.5 55 481	15 2 526 76 14 4 333 59* 9 3 138 40 15 2 282 73 12 2 197 43 11 3 111 43* 11 1 121 22 Overs Maidens Runs Wickets 212.5 85 493 41 191.5 55 481 40	15 2 526 76 14 4 333 59* 9 3 138 40 15 2 282 73 12 2 197 43 11 3 111 43* 11 1 121 22 Overs Maidens Runs Wickets 212.5 85 493 41 191.5 55 481 40

RADLEY COLLEGE

Played 20: Won 6, Lost 0, Drawn 14

Innings		Not Outs		Runs	F	lighest Inr	IS	Average
13		3		419		96		41.90
14		5		368		74*		40.88
15		5		385		82*		38.50
20		4		514		80		32.12
19		0		513		67		27.00
13		1		300		57		25.00
18		2		374		67*		23.37
18		2		365		87*		22.81
12		5		130		35*		18.57
Overs		Maidens		Runs		Wickets		Average
37	-	12		82		10		8.20
256.3		72		587		52		11.28
117.5		33		266		17		15.64
392.2		113		907		55		16.49
162		43		424		17		24.94
	14 15 20 19 13 18 18 12 Overs 37 256.3 117.5 392.2	13 14 15 20 19 13 18 12 Overs 37 256.3 117.5 392.2	13 3 14 5 15 5 20 4 19 0 13 1 18 2 18 2 12 5 Overs Maidens 37 12 256.3 72 117.5 33 392.2 113	13 3 14 5 15 5 20 4 19 0 13 1 18 2 18 2 12 5 Overs Maidens 37 12 256.3 72 117.5 33 392.2 113	13 3 419 14 5 368 15 5 385 20 4 514 19 0 513 13 1 300 18 2 374 18 2 365 12 5 130 Overs Maidens Runs 37 12 82 256.3 72 587 117.5 33 266 392.2 113 907	13	13 3 419 96 14 5 368 74* 15 5 385 82* 20 4 514 80 19 0 513 67 13 1 300 57 18 2 374 67* 18 2 365 87* 12 5 130 35* Overs Maidens Runs Wickets 37 12 82 10 256.3 72 587 52 117.5 33 266 17 392.2 113 907 55	13 3 419 96 14 5 368 74* 15 5 385 82* 20 4 514 80 19 0 513 67 13 1 300 57 18 2 374 67* 18 2 365 87* 12 5 130 35* Overs Maidens Runs Wickets 37 12 82 10 256.3 72 587 52 117.5 33 266 17 392.2 113 907 55

RATCLIFFE COLLEGE

Played 13: Won 3, Lost 2, Drawn 8

BATTING	Innings		Not Outs	Runs	F	lighest In	ıs	Average
I Anwyl	7		3	 126		46		31.50
M. Lomas	12		2	 230		64		23.00
D. Walsh	11	PR.	100	214		. 52		21.40
BOWLING			ort C. Dre	D.		XX:-1		
	Overs		Maidens			Wickets		Average
P. Digby			25			23		
P. Sandford	69		21	 161		13		12.38

READING SCHOOL

Played 15: Won 3, Lost 7, Drawn 5

BATTING								
	Innings	Not Outs		Runs	F	lighest Inr	18	Average
A. F. M. Simpkins	15	 3		376		113*		31.33
P.D. C. Gibson	15	 0		238		35		15.86
D. J. Harries	8	 0		125		41		15.62
*S. A. Brown	15	 1		186		50		13.28
S. Lindley	9	 0	••	113	•••	30		12.55
BOWLING								
The state of the s	Overs	Maidens		Runs		Wickets		Average
D. J. Harries	104	 28		246		22		11.18
A. F. M. Simpkins	128	 31		336		20		16.80
P. D. C. Gibson.	130	 38		326		12		27.16

REED'S SCHOOL

Played 10: Won 3, Lost 2, Drawn 5. Abandoned 5

BATTING							
	Innings	Not Outs	Runs	F	Highest Inr	ıs	Average
P. E. E. Farenden	10	 1	 246		46		27.33
R. Kanwal	10	 4	 136		42*		22.66
M. A. Rowland	10	 0	 190		58		19.00
R. C. Knapman	9	 0	 140		56		15.55
BOWLING							
The state of the s	Overs	Maidens	Runs		Wickets		Average
M. C. Jervis	97	 24	 284		24		11.83
K. F. Leach	110.3	 35	 259		20		12.95
S. V. W. Taylor	131	 35	 277		21		13.19
THE RESERVE THE PARTY OF THE PA							

REIGATE GRAMMAR SCHOOL

Played 14: Won 5, Lost 1, Drawn 8

BATTING								
The same of the sa	Innings	Not Out	S	Runs	Hi	ghest In	ns	Average
N. J. Torlot	6	 3		158		51*		52.66
.J. ralkner	5	 3	D	100		53*	SIS S	50.00
o. J. Donaid	1/	 2		446		80		37.16
r. U. Wright	10	 0		229		89		22.90
J. F. Dramnall	11	 1		183		43*		18.30
C. D. Jones	14	 3		176		30	ā	16.00

BOWLING	Overs	Maidens		Runs	Wickets	Average
K. R. Purchese		29	4.4	292	 26	11.23
I. C. Sanderson		 34		397	 27	 14.70
P. G. Wright	107.3	 29		321	 19	 16.89
J. C. Perkins	157.3	 50		416	 21	 19.80

The Public Schools in 1978

REPTON SCHOOL

Played 18: Won 5, Lost 0, Drawn 13. Abandoned 2

BATTING									
	Innings		Not Outs		Runs	H	lighest Inr	ıs	Average
J. M. G. Richardson	18		2		596		102		37.25
D. G. Winfield	19		3		483		60		30.18
*W. J. Wesson	19	149	4	-	418		70		27.86
J. N. Barclay	11		6		128		32*		25.60
P. A. L. Butters	16		3		326		70*		25.07
J. M. G. Willatt	15		3		240		54*		20.00
A. N. Graham	10		2		156		58		19.50
M. H. Cross	9		2		130		53		18.57
BOWLING									
	Overs		Maidens		Runs		Wickets		Average
M. H. Cross	66		23		216		13		16.61
P. A. L. Butters	232		61		647		28		23.10
R. A. Furnival	184		45		534		23		23.21
N. G. B. Richardson	278.2		80		808		33		24.48

ROSSALL SCHOOL

Played 11: Won 4, Lost 0, Drawn 7. Abandoned 1

BATTING								
	Innings		Not Outs	Runs	H	lighest Inr	ıs	Average
A. C. Jones	11		1	 323		61		32.30
G. Avison	10		4	 164		57		27.33
M. Turner	10		1 -	 174		57		19.33
P. Winterbottom	10	-	2	135		35*		16.87
S. R. Langford	10		1	 138	••••	36		15.33
BOWLING								
	Overs		Maidens	Runs		Wickets		Average
S. R. Langford	160		50	 294		27		10.88
S. V. Bernard	178		33	 496		32		15.50
A. C. Jones	87		25	 215		13		16.53

RUGBY SCHOOL

Played 15: Won 5, Lost 2, Drawn 8. Abandoned 1

ighest Inns	Average
111	48.38
99	33.41
78	30.56
59	22.46
128*	22.40
39*	16.00
33	10.00
	99 78 59 128* 39*

BOWLING	Overs	Maidens		Runs	Wickets		Average
E. F. Pugh	204.2	 47	Service .	519	 28		18.53
A. C. Hunter	139.5	 34		450	 24		18.75
S I Hennell	130.2	29		386	 18		21.44
D. J. Cutter		34		427	 14		30.50
T.N. P. Welch	161	 32		483	 15	. 6	32.20

RYDAL SCHOOL

Played 15: Won 2, Lost 5, Drawn 8

BATTING	Innings		Not Outs		Runs	H	lighest Inn	ıs	Average
A.C. Stewart	15		2		319		62		24.53
M. R. Christie	12		1		241		53		21.90
D. Garmon-Jones	15		1		297	•••	59		21.21
BOWLING	Overs		Maidens		Runs		Wickets		Average
A. S. Owen	92		9		252		13		19.38
M. R. Christie	131		39		380		14		27.14
M. I. Gittins.	102		12		363		13		27.92
A.E. C. Jones	196	KX	34	3.72.4	591	R.	18		32.83

ST ALBANS SCHOOL

Played 16: Won 7, Lost 2, Drawn 7. Abandoned 6

BATTING		an Glion	agarant.				
The state of the s	Innings	Not Outs	Runs	H	lighest Inr	ıs	Average
S. P. J. Dymoke	14	 4	 494		88*		49.40
D. W. Rodgers	14	 5	 387		84		43.00
P.M. Richardson	11	 2	 205		44*		22.77
A. G. Lynes	11	 4	 120		32*	201	17.14
T.R. Lovejoy	9	 1	 133		44	200	16.62
C. Thrale	10	0	 166		55		16.60
BOWLING							
201010100	Overs	Maidens	Runs		Wickets		Average
N. J. H. Beardow	189.3	 57	 432		29		14.89
C. A. Blythe	168.5	51	 436		23		18.95
T. B. Dobson.	94	 19	 211		11		19.18
M. Frost	86	 13	 312		12		26.00

ST DUNSTAN'S COLLEGE

Played 12: Won 5, Lost 2, Drawn 5

L DOG	Playea 1.	2: W	on 3, Lost	2, D	rawn 3	
BATTING						
	Innings		Not Outs		Runs	Highest Inns Average
C.T. Carpenter	12		1		652	120 59.27
A. M. Ford	6		3		111	32 37.00
J.H. Clark	9		1		254	56 31.75
R. P. Browne	10		4		188	52 31.33
J. C. Gorringe	12		1		212	54 19.27
T.W.F. Nash	12		2		186	59 18.60
BOWLING						
	Overs		Maidens		Runs	Wickets Average
R. P. Browne	121.1		39		371	18 20.61
G. D. Pedder	51		14		215	10 21.50
M. J. Blake	93.2		22		327	11 29.72
J. H. Clark	108.3		22		382	11 34.72

ST EDMUND'S SCHOOL, CANTERBURY

Played 12: Won 3, Lost 0, Drawn 8, Tied 1. Abandoned 3

BATTING								
	Innings	Not Outs		Runs	H	lighest Inr	ıs	Average
C. A. Sloan	13	 2		463		66*		42.09
J. E. Richardson	13	 2		266		75		24.18
W. P. Richardson	9	 2		160		50*		22.85
H. R. Botting	10	 0		222		44		22.20
N. P. Gunson	12	 1		211		68		19.18
W. F. D. Burridge	8	 2	4	101		38*		16.83
I. C. Hopper	12	 3		147		37		16.33
BOWLING								
	Overs	Maidens		Runs		Wickets		Average
A. P. B. Barker	35.3	 3		108		10		10.80
I. C. Hopper	130	 38		381		29		13.13
J. E. Richardson	78.4	 24		209		12		17.41
S. E. Hull	78	 19		252		14		18.00
W. H. Hamilton	98	 29		257		13		19.76

ST EDWARD'S SCHOOL, OXFORD

Played 12: Won 1, Lost 4, Drawn 7. Abandoned 1

BATTING								
	Innings	Not Outs		Runs	H	lighest Int	18	Average
M. A. Heeley	4	 1		140		65		46.66
N. R. Chaumeton	10	 2		297		107*		37.12
H. T. Rogers	12	 2	15.15	323		86		32.30
S. A. Talbot-Williams	12	 0		290		61		24.16
C. A. M. Reid	9	 2		123	-	37*		17.57
M. P. Mallalieu	8	0		103		45		12.87
C. G. Lawless	12	 0		132		41		11.00
BOWLING								
The state of the s	Overs	Maidens		Runs		Wickets		Average
N. R. Chaumeton	123	 32		333		19		17.52
H. T. Rogers	147	 57		307		15		20.46
C. A. M. Reid	126.2	 21		355		10		35.50

ST GEORGE'S COLLEGE, WEYBRIDGE

Played 16: Won 6, Lost 7, Drawn 3. Abandoned 2

BAITING									
	Innings Not Outs F				Runs	H	18	Average	
P. A. Clothier	15		2		390		73		30.00
A. J. Percival	14		1		241		80		18.53
M. A. Price	16		0		228		48		14.25
A. J. Ker	15		0		209		68		13.93
J. Boxall	16		5		137		38*		12.45
P. J. Davies	12		0		142		38		11.83
BOWLING									
	Overs		Maidens		Runs		Wickets		Average
*S. M. Neary	242		88		543		47		11.55
J. Boxall	217.4		48		599		37		16.18
A. J. Percival	105		19		349		12		29.08

ST JOHN'S SCHOOL, LEATHERHEAD

Played 13: Won 2, Lost 4, Drawn 7

BATTING	Innings		Not Outs		Runs	F	Highest Inr	ıs	Average
C.T. Freeman	13		0	9	280		66		21.53
C. L. Pope	9		11		169		45*		21.12
M. A. Etherington	9		0		178		40		19.77
J. I. Goddard	13	• •	1		180		43		15.00
BOWLING									
	Overs		Maidens		Runs		Wickets		Average
A. M. Golder	134.1		35		348		28		12.42
T.J. Drury	98		28		290		14		20.71
A. G. K. Hooper	184.3		69		460		19		24.21

ST LAWRENCE COLLEGE

Played 18: Won 4, Lost 4, Drawn 10

BATTING								
	Innings		Not Outs	Runs	H	lighest Inr	ıs	Average
D. A. Chapman	17		2	 368		58		24.53
T.O. G. Animashaun	17		2	 275		70		18.33
P. E. Price	15		8	 127		30		18.14
S. J. Billings	17		0	 274		94		16.11
I.R. Bond	18		0	 274		63		15.22
N. G. Marchant	17		2	 204		49		13.60
P. A. Sirman	17		3	 155		41		11.07
A. P. Barker	15		3	 100		21		8.33
BOWLING								
	Overs		Maidens	Runs		Wickets		Average
N. G. Marchant	222		61	 613		46		13.32
A. D. Bowesman	88		15	 286		14		20.42
J. E. Powell	287		54	 905		39		23.20
S. J. Billings	181	••	44	 563		20		28.15

ST PAUL'S SCHOOL

Played 15: Won 2, Lost 5, Drawn 8

BATTING								
March 52	Innings	Not Outs	3	Runs	Н	ighest In	ns	Average
*C. F. E. Goldie	15	 1		512		106		36.57
J.M. C. Axon	14	 2		321		66*		26.75
5. Withers-Green	12	 5		171		40*		24.42
J. R. M. Rix	15	 0		296		41		19.73
J.H. laylor	14	 2		184		39*		15.33
A. B. McCray	15	 2		178		43		13.69
D. P. Redstone	14	 2		150		43		12.50
BOWLING								
104	Overs	Maidens	3	Runs		Wickets		Average
D. P. Redstone	183.4	 40		503		29		17.34
D. K. Easton	83.4	 20		201		10		20.10
R.D. K. Young	193.4	 68		527		26		20.26

DATTING

ST PETER'S SCHOOL, YORK

Played 19, Won 10, Lost 1, Drawn 8

BATTING								
	Innings		Not Outs	Runs	H	lighest Inr	ıs	Average
J. P. Ross	20		4	 591		67		36.93
*R. Collingwood-Gittins	20		1	 643		117		33.84
C. W. Burdass	15		4	 334		65		31.36
J. J. R. Hughes	17		1	 352		66		22.00
J. F. Ellison	19		3	 349		81		21.81
I. D. Hindhaugh	12		2	 177		47*		17.00
BOWLING								
BOWLING	Overs		Maidens	Runs		Wickets		Average
BOWLING M. W. Johnston	Overs 36.1		Maidens 8	 101		Wickets 17	1011	Average 5.94
ONFILERO								
M. W. Johnston J. H. Baggs R. Collingwood-Gittins	36.1		8	101 398 169		17		5.94
M. W. Johnston. J. H. Baggs R. Collingwood-Gittins J. P. Ross	36.1 194.4 47 122.5		8 61 10 35	 101 398 169 323		17 40 13 21		5.94 9.95
M. W. Johnston	36.1 194.4 47		8 61 10 35 34	 101 398 169 323 308		17 40 13		5.94 9.95 13.00
M. W. Johnston. J. H. Baggs R. Collingwood-Gittins J. P. Ross A. M. Precious G. W. Tait	36.1 194.4 47 122.5 113.1 187		8 61 10 35 34 58	 101 398 169 323 308 491		17 40 13 21 20 30		5.94 9.95 13.00 15.38
M. W. Johnston. J. H. Baggs R. Collingwood-Gittins J. P. Ross A. M. Precious	36.1 194.4 47 122.5 113.1	100	8 61 10 35 34	 101 398 169 323 308		17 40 13 21 20		5.94 9.95 13.00 15.38 15.40

SEDBERGH SCHOOL

Played 15: Won 4, Lost 1, Drawn 10. Abandoned 1

BATTING							
	Innings	Not Outs	Runs	H	ighest In	18	Average
D. H. Proudman	13	 3	 351		87		35.10
*H. M. Allinson	13	 3	 279		58		27.90
W. R. Holdsworth	15	 2	 303		74		23.30
S. A. Hall	13	 2	 232		69		21.09
A. M. Wright	15	 1	 289		55		20.64
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
H. M. Allinson	168	55	 280	4.15	24	11.34	11.66
D. E. Stout	127	 37	 299		19		15.73
P. N. H. Barker	105.4	 28	 305		18		16.94
N. A. P. Meadows	195	 44	 465		24		19.37

SEVENOAKS SCHOOL

Played 13: Won 0, Lost 5, Drawn 8

BATTING								
	Innings Not Outs			Runs	H	lighest Inr	IS	Average
S. M. Prodger	13	-	0	 409		120		31.46
P. N. Colman	10		6	 114		31		28.50
J. M. Tavaré	13		1	 268		58		22.33
R. P. L. Styles	13		0	 288	170	63		22.15
*K. A. Storey	12		0	 205		42		17.08
J. Piggott	7		0	 110	4	36		15.71
S. C. Brownlow	12		2	 142	1	56*		14.20
N. L. Clinch	12		3	 115		24*		12.77
BOWLING								
	Overs		Maidens	Runs		Wickets		Average
R. P. L. Styles	63.5		23	 119		11		10.81
S. Hebditch	102		28	 286		15		19.06
P. Russell-Vick	73		1	 232		11		21.09
P. N. Colman	136		19	 448		18		24.88
J. Crane	119.2		29	 329		13		25.30

SHERBORNE SCHOOL

Played 15: Won 2, Lost 5, Drawn 8. Abandoned 1

BATTING							BATTAR
week and restail	Innings	Not Outs	Runs	F	lighest Inn	S	Average
D. Dally	13	 4	 456		149*		50.66
R. Eckersley-Maslin	14	 2	 447		88		37.25
C. Bulford	12	 3	 216		40		24.00
N. D. Oborne	10	 0	 198		102		19.80
S. E. V. Bennett	12	 0	 236		51		19.66
N. Isaac	14	 0	 253		58		18.07
S. A. Archer	12	 6	 107		32		17.83
B. H. Kenny	10	 0	 112		54		11.20
ROWLING							
BOWLING	Overs	Maidens	Runs		Wickets		Average
S. A. Archer	143	 39	308		23		13.39
P. Sanderson	203.3	52	 594		30		19.80
J. Blackburn	108.2	 23	 319		15		21.26
N. D. Oborne	94.2	 25	 273		12		22.75
J. Fisher.	143	 37	 373		15		24.86

SHREWSBURY SCHOOL

Played 21: Won 5, Lost 5, Drawn 11. Abandoned 3

BATTING									
	Innings		Not Outs		Runs	H	lighest In	ns	Average
J. M. Bosomworth	15		2		450		97		34.61
T. C. Skelton	18		6		367		61*		30.58
G. F. Boys-Stones	20		1		506		110*	ara k	26.63
J. J. Gallaher	17		1		404		85		25.25
A. J. Pollock	6		2		100		34		25.00
J. J. C. Mitchell	18		1		419		81		24.64
J. J. May	19		3		371		55		23.18
P. M. Fitzsimmons	18		2		360		112		22.50
R. G. W. Marsh	12		2		146		39		14.60
BOWLING									
20 II DATE	Overs		Maidens		Runs		Wickets		Average
R. W. Evans	159		41		500		25		20.00
G. F. Boys-Stones	200.2		34	00	704		35		20.11
R. G. W. Marsh	235.5		53		704		35	~	20.11
A. J. Waterworth	109	104	38		240		10		24.00
T. C. Skelton	186.1		39		627		23		27.26

SIR ROGER MANWOOD'S SCHOOL, SANDWICH

Played 9: Won 2, Lost 5, Drawn 2

BATTING							
A. J. Curwen	Innings 8	Not Outs	Runs 248	Н	lighest Int 62	Average 35.42	
*A. J. Hulks	9	 1	 145		53	 18.12	
BOWLING							
	Overs	Maidens	Runs		Wickets	Average	
A. R. Grigg	54.5	 14	 115		12	 9.58	
C. R. Tivey	93.5	 31	 226		22	 10.27	

SOLIHULL SCHOOL

Played 22: Won 6, Lost 6, Drawn 10. Abandoned 2

BATTING	Innings	Not Outs	Runs	Н	ighest Inn	S	Average
D. J. Meek	22	5	 930		121		54.70
M. C. Johnson	17	 1	 395		69*		24.68
S. L. Carr	19	 2	 326		102*		19.17
S. J. Roper	20	 1	 305		45		16.05
N. E. J. Sharrock	20	 5	 229		52*		15.26
P. J. Arthur	16	 1	 207		63*		13.80
J. D. M. Kinsey	15	 5	 106		31*		10.60
Carrie No.							
BOWLING			- 101		XX7: -14-		
	Overs	Maidens	Runs		Wickets		Average
C. J. M. Kinsey	253.2	 68	 676		37		18.27
N. J. Wheelwright	200.1	 47	 478		22		21.72
D. J. Meek	115.3	 21	 329		14		23.50
M. C. Johnson	125.3	21	 421		17		24.76
J. R. Cox	201.2	 39	 732	* ***	25		29.28

STOCKPORT GRAMMAR SCHOOL

Played 10: Won 3, Lost 0, Drawn 7

BATTING	Innings	Not Outs	Runs	Н	lighest Inr	ıs	Average
A. T. C. Caro	10	 2	 431		82*		53.87
*H. F. Torkington	10	 1	 332		74		36.88
J. Hilditch	8	 4	 136		41*		34.00
BOWLING	Overs	Maidens	Runs		Wickets		Average
T. J. Taylor	129	38	310		24	.,	12.91
G. R. Kelly	67	18	 176		11		16.00
A. D. T. Reeman	76	 14	 219		13		16.84
A. D. Holt	94	 21	 270		13		20.76

STOWE SCHOOL

Played 13: Won 2, Lost 0, Drawn 11

BATTING							
	Innings	Not Outs	Runs	H	ghest In	ns	Average
*D. F. C. Thomas	13	 0	 643		101		49.46
A. E. H. Worsley	13	 3	 408		89		40.80
M. C. J. Gull	13	 3	 259		88		25.90
M. P. Staheyeff	12	 5	 131		52*		18.71
F. E. J. Law	13	 1	 167		48		13.91
A. J. Rossdale	13	 0	 169		28*		13.00
BOWLING			119				
	Overs	Maidens	Runs		Wickets		Average
A. J. Rossdale	132.5	 37	 377		22		17.13
M. P. Staheveff	128.5	 34	 352		18		19.55
M. M. Berger	127	 27	 350		13		26.92

STRATHALLAN SCHOOL

Played 12: Won 3, Lost 2, Drawn 7

BATTING							
	Innings	Not Outs	Runs	H	lighest In	ns	Average
M. J. Yellowlees	12	 3	 594		138		66.00
D. Sim	8	 2	 200		82*		33.33
C. A. MacLeod	7	 1	 115		62*		19.16
A. C. B. Baird	12	 1	 183		47*		16.63
BOWLING							
DOWLING	Overs	Maidens	Runs		Wickets		Average
G. M. Strømmen	122	 39	 324		24		13.50
C. A. MacLeod	108	 33	 245		17		14.41
D. Sim	66	 18	 182		10		18.20

SUTTON VALENCE SCHOOL

Played 16: Won 3, Lost 3, Drawn 10. Abandoned 2

BATTING							
	Innings	Not Outs	Runs	H	lighest Inr	ıs	Average
J. M. Wheeler	14	 2	 332		69		27.66
R. J. Fetherston	16	 2	 376		70		26.85
G. J. Sagar	16	 2	 370		61		26.42
S. P. Cranmer	15	 0.1	 353		55*		25.21
J. E. Skinner	15	 1	 324		63		23.14
C. M. T. Ricketts	16	 0	 367		105		22.93
M. P. Dodson	9	 1	 166		94		20.75
A. J. Foster	13	 3	 171		35	1.1.	17.10
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
R. H. King	157.2	 49	 462		27		17.11
A. J. Foster	114	 16	 372		20		18.60
J. E. Skinner	245.4	 57	 742		33		22.48
R. A. Prophet	111	 25	 327		13		25.15
R. J. Fetherston	172.5	 39	 533		18		29.61

TAUNTON SCHOOL

Played 13: Won 2, Lost 3, Drawn 8. Abandoned 1

Played 13: Won 2, Lost 3, Drawn 8. Abandoned 1												
BATTING												
	Innings		Not Outs	3	Runs	Hi	ghest In	ns	Average			
P. T. Boocock	9		1		290		129*		36.25			
C. Pleeth	13		0		377		80	4	29.00			
D. Elworthy	13		0		314		62	1	24.15			
M. Pudner	13		0		239		53		18.38			
L. Razali	8		1	-	122		48*	191117	17.42			
P. C. Boocock	8		2		101		22*		16.83			
A. Tulloch	12		1		158		35*		14.36			
*J. Withers	13		1		137		25		11.41			
BOWLING												
	Overs		Maidens		Runs		Wickets		Average			
P. T. Boocock	86.1		22		230		19		12.10			
A. Tulloch	206		52		541		36		15.02			
r. C. Boocock	91		19		292		11		26.54			
S. Pearson	155.5		37		411		12		34.25			

TONBRIDGE SCHOOL

Played 16: Won 5, Lost 0, Drawn 11. Abandoned 2

BATTING	Innings	Not Outs	Runs	Н	ighest Inn	S	Average
R. M. Ellison	15	 4	 746		124		67.81
J. C. Spurling	17	 4	 866		135*		66.61
R. W. Holmes	14	 4	 381		122*		38.10
J. C. Bushby	12	 5	 202		55*		28.85
J. C. Cowdrey	17	 0	 365		56		21.47
R. M. Morgan	11	 2	 115		41		12.77
BOWLING							
and with the source to the	Overs	Maidens	Runs		Wickets		Average
R. M. Ellison	211	 66	 406		32		12.68
J. R. Downs.	92	 30	 205		15		13.66
J. C. Spurling	135	44	 324		22		14.72
S. C. Miller	190	 53	 505		31		16.29
R. W. Holmes	152	32	 434		16		27.12
G. R. Cowdrey	125	 21	 390		12		32.50

TRENT COLLEGE

Played 16: Won 6, Lost 1, Drawn 9. Abandoned 2

*,		 						
BATTING	anu A	Not Outs		Runs	н	ighest Inn	9	Average
	Innings	Not Outs						0
C. H. Wiltshire	16	 4		317		66		26.41
S. C. Melen	11	 4		175		50*		25.00
R. A. Cobb	11	0	1.00	247		59		22.45
*C. S. H. Smith	15	 1		300		45		21.42
G. W. Rees	9	2		111		39		15.85
M. S. Redferne	11	4		108		23		15.42
	14	2		185		36		15.41
R. M. Sanders						20		12.50
C. Reed	10	 2		100		28		12.30
now we								
BOWLING	0	Maidens		Runs		Wickets		Average
	Overs							
C. S. H. Smith	136	 37		338		36		9.38
J. C. Harris	46	 15		97		10		9.70
G. W. Rees	166	 47		398		37		10.75
R. A. Cobb	129	 30		390		29		13.44
R. M. Cood								

TRINITY SCHOOL, CROYDON

Played 26: Won 15, Lost 2, Drawn 8, Tied 1. Abandoned 1

BATTING	Innings	Not Outs	Runs	н	ighest Inr	ıs	Average
1.3966	-		777		111		29.88
R. K. Steadman	26	 0					28.80
J. T. Woodman	25	 4	 605		58		22.30
M. W. Johnson	25	 5	 446		54*		
*I. J. Roberts	23	 6	 379		52		22.29
P. E. Smith	20	 2	 298		34		16.55
M. Blows	16	 7	 144		53*		16.00
P. R. Gardner	10	 0	158		66		15.80
C. J. Hall.	17	 7	 152		26		15.20
M. L. Jones	15	 0	199		55		13.26
BOWLING							
201121110	Overs	Maidens	Runs		Wickets		Average
P. E. Smith	285.3	 64	 733		66		11.10
I. C. T. Martin	260.3	 77	 576		51		11.29
N. Rollings	149.5	42	 332		27		12.29
I. J. Roberts	230.1	69	 529		39		13.56
M. Blows	208.4	 69	 433		30		14.43

TRURO SCHOOL

Played 12: Won 4, Lost 2, Drawn 6

BATTING		NI-4 Out		Duna	L	lighest In	20	Average
	Innings	Not Out	S	Runs	1.	-	115	
*G. C. Stephens	12	 1		305		66		27.72
C. P. Triniman	11	 5		137		30*	Bern	22.83
C. L. F. Reid	10	 3	4-1	159		53*	mode	22.71
C. J. Kerkin	9	 0		141		64		15.66
P. F. Johns	11	2		126		44		14.00
T. J. Warne	11	 2		105		24*		11.66
ROWLING								
BOWEING	Overs	Maiden	s	Runs		Wickets		Average
G. M. Keast	87	 11		249		21		11.85
C. P. Triniman	144.3	 20		406		29		14.00
J. Barnes	54.2	 7		158		10	- 7.7	15.80

UPPINGHAM SCHOOL

Played 12: Won 6, Lost 1, Drawn 5. Abandoned 1

BATTING								
	Innings		Not Outs	Runs	H	lighest Inr	IS	Average
C. J. Riley	14		3	 504		84		45.81
*J. P. Agnew	10		1	 242		64		26.88
T. J. Malthouse	12		1	 291		57	4.1	26.45
S. J. Watson	10		4	 132		57*		22.00
R. J. Bascomb	11		5	 118		28*		19.66
R. A. Mapstone	11		1	 196		51	SWING	19.60
J. J. Whitaker	8		2	 103		26	915	17.16
G. S. Mason	10		1	 109		32	• • •	12.11
BOWLING								
	Overs		Maidens	Runs		Wickets		Average
J. P. Agnew	159		56	 301		37		8.13
G. S. Mason	69		26	 170		13		13.07
N. D. W. Pull	152		46	 331		20		16.55
S. E. Rawson	110		31	 344		19		18.10
R. J. Bascomb	106	11.00	36	 237		13	1	18.23
T. J. Malthouse	124		29	 324		14		23.14

VICTORIA COLLEGE, JERSEY

Played 16: Won 2, Lost 8, Drawn 6

BATTING	Innings	Not Outs	Runs	н	ighest In	18	Average
*D C M:1:		5	248		42		22.54
*R. C. Minchington	16						
T. J. Brown	13	 0	 269		111		20.69
S. B. Wallis	11	 1	 155		32		15.50
A. L. Smith	13	 0	 195		52		15.00
M. C. Layzell	11	 2	 117		51	10.13	13.00
R. H. R. Boddy	16	 0	 188		37		11.75
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
M. C. Layzell	75	 10	 264		15		17.60
R. H. R. Boddy	221	 50	 647		33		19.60
P. R. B. Le Brocq	136	 21	 495		18		27.50

WARWICK SCHOOL

Played 15: Won 8, Lost 4, Drawn 3. Abandoned 2

BATTING							
FE 775 AA	Innings	Not Outs	Runs	H	lighest Inr	ıs	Average
G. A. Lammie	14	 4	 402		55		40.20
G. A. Tedstone	15	 2	 495		75		38.07
G. J. Lord	13	 3	 313		56		31.30
*P. M. Ryan	9	 2	 155		37		22.14
J. Marcus	11	 0	 131		21		11.90
BOWLING							
nemark study 190	Overs	Maidens	Runs		Wickets		Average
S. C. Davis	164.4	 45	 453		38		11.92
G. J. Lord	219.3	 76	 509		40		12.72
P. A. Tilston	81.1	 18	 259		15		17.26
M. A. Bartlett	103.4	 24	 317		14		22.64

WELLINGTON COLLEGE

Played 13: Won 3, Lost 3, Drawn 7. Abandoned 1

DATTING								
BATTING	Innings	Not Outs		Runs	His	ghest In	18	Average
C. H. J. Clayden		 2	-	277				34.62
S. R. B. Merton		4		259	1 5 5 - 5	55*	44	25.90
J. H. C. Mallinson		2	1	198	. 31.22	86*		24.75
		 2		291		74*		22.38
P. R. C. Edwards		 0		216		75	Sec.	21.60
C. A. W. Gibson		 The state of the s		280		92		21.53
P. S. Lascelles		 0		167		53		20.87
A. H. H. Turner		 2				34		18.66
*T. J. W. Kenny		 0		168				13.20
R. J. K. Paterson	15	 0		198		78		13.20
BOWLING				03 00				
	Overs	Maidens		Runs		Wickets		Average
T. J. W. Kenny	113.5	 37		242		21		11.52
		 40		478		22		21.72
A. H. H. Turner		 26		462	0.			S. D. Britanis
		 34		492		14		35.14
G. P. Harper	139	26		462	Obe .	18		25.66 35.14

WESTMINSTER SCHOOL

Played 13: Won 1, Lost 8, Drawn 4

BATTING							
	Innings	Not Outs	Runs	H	ighest Inr	18	Average
T. W. J. Bailey	12	 2	 302		101		
S. Beadle		 2	 205		43		
S. J. D. Hamilton	12	 0	 216		76		18.00
P. Harris			 167		44		13.92
R. Welch			100		39		11.11
BOWLING							
	Overs	Maidens	Runs		Wickets		Average
T. W. J. Bailey	116.5	 35	 276		25		11.04
R. Platt	74	 10	 265		11		24.09

WHITGIFT SCHOOL

Played 16: Won 5, Lost 5, Drawn 5, Tied 1

BATTING							
BILL SUPPLIES	Innings	Not Outs	Runs	F	lighest Inr	ıs	Average
I. D. J. Goddard	16	 2	 455		82		32.50
D. C. J. Moore	15	 0	 421		96		28.06
R. D. Iswariah	14	 0	 312		98		22.28
T. C. Anson	16	 0	 340		62		21.25
D. T. Murch	12	 3	 167		66*		18.55
J. B. Lyons	15	 1	 191		45		13.64
I. Robertson	11	 2	 107		27		11.88
BOWLING							
	Overs	Maidens	'Runs		Wickets		Average
W. Kennedy-Cooke	172.2	 48	 457		25		18.28
G. M. Sizer	184.4	 56	 477		26	1	18.34
S. G. Wilson	191	 37	 656		30		21.86
D. T. Murch	133.1	 39	 348		13		26.76
P. D. Priest	127.3	 24	 420		14		30.00

WILLIAM HULME'S GRAMMAR SCHOOL, MANCHESTER

Played 20: Won 7, Lost 3, Drawn 10. Abandoned 1

BATTING							
	Innings	Not Outs	Runs	F	Highest Inr	ıs	Average
S. P. Dickinson	18	 2	 508		60*		31.75
C. M. Thorpe	13	 2	 258		52*	. 3	23.45
*N. W. Hewitt	16	 1	 311		84		20.73
D. G. Richards	17	 5	 231		40*	20	19.25
P. A. Barron	16	 2	 260		45		18.57
BOWLING							
BOWLING	Overs	Maidens	Runs		Wickets		Average
N. J. Lord	164	50	 389		41		9.48
P. A. Rainford	226	 77	 535		46	lze!	11.63
D. G. Richards	197	 54	 602		35		17.20
J. F. Morton	103	 29	 309		12		25.75
P. A. Rainford	226 197	 77 54	535 602		46 35	izell della	11.63 17.20

WINCHESTER COLLEGE

Played 18: Won 3, Lost 6, Drawn 9, Abandoned 1

Played 18: Won 3, Lost 6, Drawn 9. Abandonea 1													
BATTING													
	Innings		Not Outs		Runs	H	ighest Inr	ıs	Average				
M. J. A. MacDonell	19		4		505		101*		33.66				
S. J. G. Doggart	17		5		327		69		27.25				
M. J. M. Foot	15		1		328		78		23.42				
A. D. Waddington	11		6		117		33*		23.40				
H. G. B. Derrick	14		2		240		49		20.00				
A. G. Morrison	7		1		119		43*		19.83				
P. G. G. Dear	13		2		175		51		15.90				
C. P. R. Robinson	14		1		183		34		14.07				
R. H. P. Jolly	16		0		195		48		12.18				
BOWLING													
· · · · · · · · · · · · · · · · · · ·	Overs		Maidens		Runs		Wickets		Average				
M. J. A. MacDonell	103.3		24		301		27		11.14				
S. D. K. Edwards	182.1		57		457		23		19.86				
S. J. G. Doggart	199.2		40		633		30		21.10				
A. D. Waddington	123.2		24		391		17		23.00				
A. R. Crocker	183.6		26		640		2.5		25.60				

WOODHOUSE GROVE SCHOOL

Played 15: Won 2, Lost 5, Drawn 8. Abandoned 1

BATTING	Innings	Not Outs	Runs	Н	ighest Inn	IS	Average
R. N. Featherby	14	 2	 438		100*		36.50
N. J. Driver	13	 0	 416		105		32.00
D. A. Robinson	12	 1	 216		52		19.63
A. M. Widdop	11	 3	 124		25*		15.50
S. N. Driver	11	 0	 104		43		9.45
BOWLING							
BOWLING	Overs	Maidens	Runs		Wickets		Average
A. M. Widdop	159.3	 44	 372		36		10.33
K. Liney	54.2	 9	 181		17		10.64
N. J. Driver	66.1	 9	 184		10		18.40
D. A. Robinson	158	 44	 408		19		21.47

WORKSOP COLLEGE

Played 13: Won 2, Lost 3, Drawn 8

P. A. Shuttleworth. C. L. M. Best. S. A. Grice P. N. Wall N. C. Evans. N. R. Cooke	Innings 12 12 7 13 11 13	 Not Outs 1 0 0 1 0 2	 Runs 417 240 140 170 143 120 118	H	ighest Inn 111 100 37 43 33 34 22	s	Average 37.90 20.00 20.00 14.16 13.00 10.90 10.72
D. A. Smeaton BOWLING C. L. M. Best	Overs 121 66 126 119	 Maidens 34 3 25 17	 Runs 304 265 341 425		Wickets 20 14 10 10		Average 15.20 18.92 34.10 42.50

WREKIN COLLEGE

Played 18: Won 10, Lost 3, Drawn 5. Abandoned 3

BATTING	Innings		Not Outs	Runs	Н	ighest Inn	S	Average
J. B. R. Jones	18	-	6	 562		85*		46.83
M. K. Perry	17		5	 481		145*		40.83
R. S. Dutton	11		3	 219		91		27.37
M. S. Bird	13		4	 191		54*		21.22
P. L. Andrews	14		4	 182		37*		18.20
A. J. S. Torrance	11		2	 115		32*		12.77
W. R. Connell	12		1	 136		34*		12.30
BOWLING						**** 1		Average
	Overs		Maidens	Runs		Wickets		8.70
C. P. Ross	226		100	 322		37	2.	10.39
I. B. R. Jones	292		118	 499		48		11.48
R. S. Dutton	266		84	 563		49		18.00
A. J. S. Torrance	76		13	 198		11		18.00

WYCLIFFE COLLEGE

Played 13: Won 6, Lost 4, Drawn 3

BATTING					mate least	THE S			
	Innings		Not Outs		Runs	F	lighest Inr	18	Average
J. J. Newman	15		4		490		98*		44.54
H. Powell	14		5		247		51		27.45
S. F. Jennings	14		0	N. P.	377		114		26.92
F. J. Hemming-Allen	15		2		344		52		26.46
*R. W. Jones	11		5		129		67		21.50
R. J. Perkins	15		0		249		58	• •	16.60
BOWLING									
on later and extent as in a state	Overs		Maidens		Runs		Wickets		Average
R. W. Jones	99.3	1.5	22		287		18		15.94
F. J. Hemming-Allen	65.4		16		181	100	11		16.45
R. Master	158.4		37		391	2	23		17.00
J. J. Newman	61.4		8		210		11		19.09
S. H. R. Judd	166.4		47		403		17		23.70

WYGGESTON COLLEGE, LEICESTER

Played 14: Won 6, Lost 1, Drawn 7. Abandoned 1

BATTING	Innings	Not Outs		Runs	I	lighest Inr	ıs	Average
A. C. Gavriel	11	 3		337		82*		42.12
*M. Farrin	11	 3		115		28		14.37
A. J. Lucas	10	 1		127	-	24		14.11
B. J. Peake	12	 1		128	1	43*	5.	11.63
BOWLING		Denimal.						
	Overs	Maidens		Runs		Wickets		Average
J. J. Smith	127	 37		290		33		8.78
J. Patel	37	 13		111		11		10.09
C. J. Stone	60.5	16	N3.00	151		11		13.72

